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Unit |
Text 1

History of the cellular mobile radio and GSM

The idea of cell-based mobile radio systems appeared at Bell Laboratories
(in USA) in the early 1970s. However, mobile cellular systems were not intro-
duced for commercial use until the 1980s. During the early 1980s, analog cellu-
lar telephone systems experienced a very rapid growth in Europe, particularly in
Scandinavia and the United Kingdom. Today cellular systems still represent one
of the fastest growing telecommunications systems.

But in the beginnings of cellular systems, each country developed its own
system, which was an undesirable situation for the following reasons:

e The equipment was limited to operate only within the boundaries of each
country;
e The market for each mobile equipment was limited.

In order to overcome these problems, the Conference of European Posts
and Telecommunications (CEPT) formed, in 1982, the Group Special Mobile
(GSM) in order to develop a pan- European mobile cellular radio system (the
GSM acronym became later the acronym for Global System for Mobile commu-
nications), the standardized system had to meet certain criteria:

e Spectrum efficiency;

¢ International roaming;

e Low mobile and base stations costs;

e (Good subjective voice quality;

e Comepatibility with other systems such as ISDN (Integrated Services Digi-
tal Network);

e Ability to support new services.
Unlike the existing cellular systems, which were developed using an analog
technology, the GSM system was developed using a digital technology.

In 1989 the responsibility for the GSM specifications passed from the
CEPT to the European Telecommunications Standards Institute (ETSI). The aim
of the GSM specifications is to describe the functionality and the interface for
each component of the system, and to provide guidance on the design of the sys-
tem. These specifications will then standardize the system in order to guarantee
the proper inter-working between the different elements of the GSM system. In
1990, the phase I of the GSM specifications were published but the commercial
use of GSM did not start until mid-1991. The most important events in the de-
velopment of the GSM system are presented in the table 1.
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Year | Events

1982 CEPT establishes a GSM group in order to develop the standards for a
pan-European cellular mobile system

1985 | Adoption of a list of recommendations to be generated by the group

Field tests were performed in order to test the different radio techniques
1986 S
proposed for the air interface

TDMA is chosen as access method (in fact, it will be used with EDMA)
1987 | Initial Memorandum of Understanding (MOU) signed by telecommuni-
cation operators (representing 12 countries)

1988 | Validation of the GSM system

1989 | The responsibility of the GSM specifications is passed to the ETSI

1990 | Appearance of the phase 1 of the GSM specifications

1991 | Commercial launch of the GSM service

1992 Enlargement of the countries mat signed the GSM- MOU> Coverage of
larger cities/airports

1993 | Coverage of main roads GSM services start outside Europe

1995 | Phase 2 of the GSM specifications Coverage of rural areas

Table 1: Events in the development of GSM

From the evolution of GSM, it is clear that GSM is not anymore only a
European standard. GSM networks are operational or planned in over 80 coun-
tries around the world. The rapid and increasing acceptance of the GSM system
is illustrated with the following figures:

e 1.3 million GSM subscribers worldwide in the beginning of 1994;
e Over 5 million GSM subscribers worldwide in the beginning of 1995;
e Over 10 million GSM subscribers only in Europe by December 1995.

Since the appearance of GSM, other digital mobile systems have been de-
veloped. The table 2 charts the different mobile cellular systems developed since
the commercial launch of cellular systems.

Year Mobile Cellular System

1981 Nordic Mobile Telephony (NMT), 450>

1983 American Mobile Phone System (AMPS)

1985 Total Access Communication System (TACS) RadioCom 2000
C-Netz

1986 Nordic Mobile Telephony (NMT), 900>

1991 Global System for Mobile communications North American Digi-
tal Cellular (NADC)

1992 Digital Cellular System (DCS) 1800-1990 Personal Digital Cellu-
lar (PDC) or Japanese Digital Cellular (JDC)

1995 Personal Communications Systems (PCS) 1900-Canada>

1996 PCS-United States of America>

Table 2: Mobile cellular systems
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Memorize the following words and word-groups:

adoption — yTBepXXaeHWe; NPUHATHE
cellular — coToBbIiA
compatibility — coBMmecTmocCTb
coverage — 30Ha [e/iCTBUA; NOKPbITUE
enlargement — pacLumpeHe, yBenmyeHve
equipment — ocHallleHVe, 060pyA0oBaHme
guidance — pyKoBOACTBO; yrpas/ieHue
inter-working — MeXceTeBoe B3anMOAENCTBUE
to introduce — BBOAUTb; NPeLCTaBNATb
launch — 3anyck
market — pbIHOK
to meet criteria — 0TBeYaTb KPUTEPUAM
responsibility — 0TBETCTBEHHOCTb

e roaming — pOyMuHI (MCMoMb30BaHWe Ballero teneoHa B CETAX APYroi
KOMMaHmm)

e undesirable — HeXXenaTenbHbIi

Exercises

Exercise 1. Answer the following questions.

1. Where did the idea of cell-based mobile radio systems appear?

2. Do cellular systems still represent one of the fastest growing telecom-
munications systems today?

3. Why was an undesirable situation in the beginnings of cellular systems?

4. What can you say about the most important events in the development
of the GSM system?

Exercise 2. Give English equivalents of the following.

Mob6unbHas COTOBasi CMCTEMA, rOI0COBOE KauyecTBO, LMMPOBas TEXHOJIO-
rns; ceTu; abOHEHT; CTaH4APTU3NPOBaHHAA CUCTEMA.

Exercise 3. Make the following sentences negative (Past Indefinite).

1. Each country developed its own cellular system. 2 Readers were invited
to explore the new site. 3. The network with leased fiber formed a bi-directional,
self-healing fiber optic cable system. 4. The software fault was found in SIM
cards manufactured by one of Sonera’s subcontractors. 5. Nokia supplied GSM
switching equipment last month. 6. The network operators made a lot of money
from the traffic in August. 7. This cell-based mobile system appeared in 1973.
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Exercise 4. Put the Infinitive in brackets in the Future Indefinite Tense.

1. It also (limit) foreign ownership of TT to 45%. 2. Data voice and multi-
media traffic (flow) over the Global One fiber-optic backbone at speeds of up to
1.6 Tbps. 3. The operators also (use) the partnership to develop new products
and services. 4. France Telecom has announced the price, at which its shares in
US operator Sprint (to be sold). 5. Under the revised rules, the fee for terminat-
ing Internet access calls (to be reduced) then in two more steps. 6. These specifi-
cations (to standardize) then the GSM system.

Text 2

Satellites: the sky’s the limitation?

The question is: “what went wrong?” It is a problem that has been puzzled
over by those in the satellite industry following the financial difficulties of
Globalstar.

Satellites have always represented the more glamorous side of the tele-
comms industry. Sharing some of the excitement of the first walks in space, the
launch of the early communications satellites appeared to be taking telecomms
to the “final frontier” of borderless communications.

A case in point is Iridium. While few could find fault with the technology
behind Iridium’s satellite constellation the design of the company’s end-user
terminals left much to be desired. The size of the handsets coupled with the fact
that they could not be used inside buildings meant that they paled in comparison
to conventional cellular handsets.

The satellite industry is often seen as a series of polarities. The first most
important distinction to make is between the more “old-fashioned”, government-
backed, satellite operators and the “new” independently financed operators.
Companies such as Inmarsat were reliant on large geostationary satellites
(GEOs). GEO satellites sit at about 36,000 km above the earth’s surface, with
the satellite’s speed matching the earth’s rotational speed.

While GEOs have proven popular with broadcasters because they are ide-
ally suited to multicast of information, they have proven to be less reliable for
point-to-point communications because of high latency. As GEOs are so far
from the earth’s surface, any signal routed from one ground station to another
via a GEO suffers from a round-trip delay (known as latency). Thus, the rise of
the Internet-which is dependent on point-to-point communications - largely by-
passed the GEO operators.

Instead, low earth orbit (LEO) operators were widely regarded as the way
forward. Companies such as Globalstar, Iridium, Skybridge and Teledesic based
their entire strategies around LEOs. LEO satellites sit at 290 km to 1,600 km
above the earth’s surface, offering much lower latency for point-to-point com-
munications. LEOs move rapidly in relation to the earth’s surface, and thus
ground stations must switch from one satellite to the next to maintain a connec-
tion.
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A compromise between the two are medium earth orbiting (MEO) satel-

lites. Few operators have opted to launch MEO satellites.

Significant operators in the global satellite industry

Satellite operator

Constellation

Launch date

Type of services

Inmarsat 9 GEOs 1982 (3 more in Voice, data, IP
2004)
Eutelsat 18 GEOs 1983 (5 more in TV, radio and IP
2002)
Intelsat 19 GEOs 1964 (19 more in Voice, Internet, TV,
next 3 years) radio
PanAmSat 21 GEOs 1983 Voice, data, broad-
cast
Ellipso 2 GEOs 2000-2001 GMPCS
Thuraya 2 GEOs 2000-2001 Mobile telephony
and GPS
Europe*Star 2 GEOs 2000 Broadcast, voice,
data
Loral Cyberstar | 3 GEOs 1994 Global IP multicast
(formerly Orion)
New Skies Internet and multi-
(former Intelsat | 5 GEOs Spun off in 1998 media
subsidiary)
Astrolink 4 GEOs 2003 (2 planned at 2-way broadband
later date) access
Hughes Space- 2 GEOs 2002 Multimedia and
way Internet
SES-Astra 7 MEQOs 2002 GMPCS
New ICO 10 MEOs 2003 Mobile telephony,
(ICO-Teledesic) PCS
Iridium 66 LEOs 1999(new services Mobile telephony,
2001) PCS
Globalstar 48 LEOs 1999 Mobile telephony,
PCS
Teledesic 288 LEOs 2004 ‘Internet in the sky’
ICO-Teledesic)
Skybridge 80 LEOs 2004(GEO services | Internet access, IP
2001)

As can be seen from the table the majority of satellite operators remain

GEO-based.
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Memorize the following words and word-groups:

to bypass — 06xoanTb

a case in point — OCHOBHOI BONpOC, 06CTOATE/ILCTBO
constellation — COBOKYNHOCTb

end-user terminal — TepM1HaN KOHEYHOTO MO/b30BaTe NS
excitement — BOJIHEHUE; CTUMYN

fault — HegocTaToK, AeeKT, owmbKa

frontier — rpaHnLa, py6ex

geostationary satellite — reoctaumoHapHbIA CNYTHUK
glamorous — YapyroLmil

handset — TenegoHHasa Tpyoka

latency — CKpbITO€ COCTOSIHMNE

multicast — rpynnosas nepegaya; My/nbTuBeLLaHNe
to opt — BbIGMpaTh; fenartb BbIGOP

to pale — TYCKHeTb

point-to-point communication — npsmMas cBA3b

to prove — fOKa3blBaTh

to puzzle over — pa3obpaTbCs, pasragarb

to route — NpoKNagblBaTh MapLUPyT

Exercises

Exercise 1. Read the text and ask problem questions.

Exercise 2. Translate the following sentences into Russian, paying atten-
tion to different functions of the infinitive.

1. To know English means first of all to be able to speak English. 2. It is
necessary to provide communications where terrestrial networks could not
reach. 3. There are many things to be done. 4. They were run on a near-
cooperative basis to serve communities of interest in the global (Intelsat), Euro-
pean (Eutelsat) and maritime (Inmarsat) communications. 5. To illustrate the
services provided by the presentation layer, consider a telephone conversation
between a French speaking person and a Spanish speaking person. 6. The market
has started to show some movement. 7. To say the least, competitive dynamics
do not seem to be fully at work yet. 8. On awarding the licences, the ART an-
nounced a possible rescheduling of the payments to be made by the operators.

Exercise 3. Insert the prepositions.

1. The system has already been used ... sending video news footage half
away ... the world. 2. The satellite will provide improved capacity ... the Atlan-
tic West ocean region. 3. E-mail allows users to prepare messages and send
them ... highlighting addressees from a directory ... a screen. 4. The cc: Mail
software automatically groups the messages ... batches ready for efficient
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transmission ... the Inmarsat-C satellite network. 5. TST’s encryption box is de-
signed for use ... telex machines. 6. Orbcomm will be the first ... the so-called
“little LEO” satcom systems to enter operation.

Keys: over, of, into, for, in, around, with, on, by.

Exercise 4. Define the tense-forms of the verbs and translate the sen-
tences.

1. The terminal’s principal distinguishing feature is a unique high-speed
data interface that supports a wide variety of data applications. 2. New commu-
nication technology and competition from LEO and MEO satellite systems will
compel all satellite communication companies to build products that are smaller
and less expensive. 3. The service lowered the cost of calls across borders in the
Nordic region. 4. | completed the forms. 5. Branding won’t play a prominent
role for telecomms operators.
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Unit 11
Text1

Local Area Network

ITS” local area network (LAN) allows to quickly respond to new programs
and new technologies. This LAN interconnects every office and laboratory
within ITS. Wide area network (WAN) and Internet connections provide access
to sponsors, research collaborators, and other organizations.

The LAN provides electronic mail, client-server computing, and peer-to-
peer services for all ITS personnel, using TCP/IP and NFS applications. Cur-
rently, the LAN operates as an IEEE 802.3 10 Base-T Ethernet. This Ethernet
supports over 160 heterogeneous computers including PCs, Macintoshes, and
UNIX workstations.

Over 45,000 feet of hybrid copper/optical cabling integrates ITS’ facilities
in a physical star topology. Nearly 160 LAN wall outlets connect to either of
two central wiring closets, which are interconnected with redundant fiber optic
backbone cables. All outlets are capable of supporting 100-MHz data rates via
either Category 5 twisted-pair or multimode optical fiber. This arrangement al-
lows easy reconfiguration of the network, and the delivery of new high-speed
services to any part of the Institute as the requirement arises.

Now more than ever, moving vast amounts of information quickly across
great distances is one of our most pressing needs. From small one-person entre-
preneurial efforts, to the largest of corporations, more and more professional
people are discovering that the only way to be successful in the “90s and beyond
is to realize that technology is advancing at a break-neck pace and they must
somehow keep up. Likewise, researchers from all corners of the earth are find-
ing that their work thrives in a networked environment. Immediate access to the
work of colleagues and a “virtual” library of millions of volumes and thousands
of papers affords them the ability to incorporate a body of knowledge heretofore
unthinkable. Work groups can now conduct interactive conferences with each
other, paying no heed to physical location the possibilities are endless.

A network is probably best defined as two or more devices with the capa-
bility to share resources and information. No matter how large or how small the
network is, there are certain rules (protocols and standards) that must be fol-
lowed to ensure that the network works correctly and that it will work with other
network components. The most basic of these rules is an outline for communica-
tion between two devices that was established by the International Organization
for Standardization (ISO). The 1SO developed a model called the seven-layer
model that specifies seven distinct functions that must occur for a device to
communicate with another device. This model is also referred to as the Open
Systems Interconnection (OSI) model because it defines these seven layers with
respect to the communication process. The OSI model does not follow any indi-
vidual vendor’s established protocols and standards.
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Local-area networks (LANS) are communications systems that are used to
link the terminals, computers, word processing stations, and other devices lo-
cated within a compact area. LANSs typically use a star, bus or ring configura-
tion, and they can be classified into high-, medium-, and low-speed categories.
Some low-speed LANSs designed for use with personal computers use special
cables, while other low-speed networks use telephone wires and digital control-
lers. Regardless of the type of LAN used at a local site it must often be coordi-
nated with the communications elements that link geographically dispersed
processing centers.

Except LAN there exist other networks:

e MAN (Metropolitan Area Network);
e WAN (Wide Area Network);
e GAN (Global Area Network).

In an area where the formerly distinct technologies of computing and tele-
communications have so clearly converged, the new technology presents both
opportunities and problems. And this convergence of technologies demands an
“Interconnection” also between the various groups mentioned above.

Memorize the following words and word-groups:

o access - gocTyn
o at a break - neck pace - YCKOpPEHHbIM TEMIMOM; C FOMIOBOKPY>KNTENbHOM
ObICTPOTOWA

backbone cable - marucTpanbHbIin Kabesnb

controller — yCTpoCTBO yNpaBneHus; KOHTPO/IEP

to converge — CBOAMTb BOEAUHO

Ethernet — 3TepHeT (loKa/IbHast KOMMbIOTEPHAA CTaHLMSA)

to interconnect — B3aMMOCOENHATL

itinerary — nnaH mapLupyTa

to link — coeguHATL

local network — nokanbHas ceTb

multimode — MynbTUpeXXnM

network — CeTb, KOMMbKOTEPHasA CeTb

outlet — BbIBOA

outline — cxema; nnaH

peer — 04MHaKOBOE M0 COCTOAHMIO YCTPOWCTBO (B CETH)

peer — to peer service — ycnyra CBA3U MeXay OAMHAKOBLIMW MO COCTOA-
HUIO YCTPOCTBaMM (MeXAY 3/1leMeHTaMu CeTU OLHOr0 YPOBHS)

o to share — ncnonb3oBaTb BMECTE; pa3feniTh

o site — MecTonosioXKeHue

o to thrive (throve; thriven) — npoweTaTh; npeycnesartb

o twisted pair — crnnieTeHHasn (CKpy4eHHas) napa; ABYXXW/ibHas napa
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o wiring closet — KOMMYTaUMOHHBIN LEHTP (B CUCTEMAX C KO/bLIEBOI TOMO-
noruen)
* * * * *
TCP (Transmission Control Protocol) — npoToKon ynpasneHus nepegayei
(BaHHbIX)
IP (Internet Protocol) — npoToKON MEXCETEBOro B3aMOEeNCTBISA

Exercises

Exercise 1. Answer the following questions.

1. What does local area network allow? 2. What do wide area network and
Internet connections provide? 3. Why is it possible for the LAN to provide elec-
tronic mail, peer-to-peer services? 4. What data rates are all outlets capable of
supporting? 5. What can work groups conduct now? 6. How is a network best
defined? 7. What model is called the seven-layer model? 8. What are local area
networks? 9. What categories can the local area networks be classified into?

Exercise 2. Change the following sentences from active voice to passive
voice:

1. This ethernet supports over 160 heterogeneous computers. 2. This LAN
interconnects every office and laboratory within ITS. 3. The International Or-
ganization for Standardization established these rules. 4. This model defines
these seven layers with respect to the communication process.

Exercise 3. Put general questions to the following sentences and translate
them.

1. A robot must obey the orders given by human beings. 2. In the begin-
ning, of course, robots couldn’t talk. 3. The only thing that could save them was
selenium. 4. We can come out here, at exit 13A. 5. We can find a way to stop
him. 6. | must get back to the shadow or the sun will kill me. 7. There should be
a better explanation. 8. | can work in any temperature. (From “I, Robot” of Isaac
Asimov)

Exercise 4. Find the sentences in which the verbs to_have and to be are
translated as fO/I>KeH.

1. Computers have already penetrated almost into all spheres of modern
economy. 2. The students of our Academy have at their disposal the computing
center. 3. The general purpose of this unit is to perform different arithmetic op-
erations. 4. For a digital computer information has to be in the form of digits or
numbers. 5. The first programmed computer was built in 1939. 6. This personal
computer has been constructed at our lab. 7. You have to remember the names
of the scientists who have contributed to the designing of computers. 8. The lec-
ture was to begin at 9 o’clock. 9. Fortran is still widely used programming lan-
guage. 10. They have to clarify some details and to put down all necessary data.
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Text 2

The Virtual Local Network

The CRONUS Virtual Local Network has the addressing related features.
These features include a method for mapping between Internet Addresses and
Local Network addresses. The Virtual Local Network (VLN) is a facility, which
provides interhost message transport to the Cronus Distributed Operating Sys-
tem. The VLN consists of a ‘client interface specification’ and ‘implementa-
tion’; the client interface is expected to be available on every host. Client proc-
esses can send and receive datagrams using specific, broadcast, or multicast ad-
dressing as defined in the interface specification (I local network (PLN)). This
additional level of abstraction is defined to meet two major system objectives: *
COMPATIBILITY. The VLN defines a communication facility, which is com-
patible with the Internet Protocol (IP) developed by DARPA; *
SUBSTITUTABILITY. Software built above the VLN is dependent only upon
the VLN interface and not its implementation. It is possible to substitute one
physical local network for another in the VLN implementation, provided that the
VLN interface semantics are maintained. The compatibility goal is motivated by
factors relating to design and its development environment. A large body of
software has evolved, and continues to evolve, in the Internet community fos-
tered by DARPA. For example, the compatibility goal 2 permits design to as-
similate existing software components providing electronic mail, remote termi-
nal access, and file transfer in a straightforward manner. In addition to the roles
of such services in this system, they are needed as support for the design and de-
velopment process. The substitutability goal reflects the belief that different in-
stances of the cluster will utilize different physical local networks.

The substitutability issue will also be faced by other organizations as local
network technology advances, and the transfer of existing system and applica-
tion software to a new physical local network base becomes an economic neces-
sity. The precise representation of the VLN data structures and operations can be
expected to vary from machine to machine, but the functional capabilities of the
interface are the same regardless of the host ...|.| |-----------------==-mmmrmmm-- | |
Transmission | User | | | Control |  Datagram | ... | | Protocol | Protocol | | |------
------------------------------------ | | Internet Protocol | | (IP) | |-----------======-==mmmm-

The hosts belonging to a cluster are directly attached to the same physical
local network, but the VLN hides the peculiarities of the PLN from other soft-
ware. A VLN is viewed as a network in the Internet, and thus has an Internet
network number. The PLN could possess its own network number, different
from the network number of the VLN it implements, or the network numbers
could be the same. Different numbers would complicate the gateways some-
what, but are consistent with the VLN and Internet models network.

The VLN interface will have one client process on each host, normally the
host’s IP implementation. The structure of messages which pass through the
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VLN interface between client processes and the VLN implementation is iden-
tifical to the structure of internet datagrams constructed in accordance with the
Internet Protocol. Any representation for Internet datagrams is also a satisfactory
representation for VLN datagrams, and in practice this representation will vary
from host to host. The VLN definition merely asserts that there is ONE well-
defined representation for Internet datagrams, and thus VLN datagrams, on any
host supporting the VLN interface. The argument name “Datagram” in the VLN
operation definitions below refers to this well-defined but host-dependent data-
gram representation. The VLN guarantees that a datagram of 576 or fewer octets
(i.e., the Total Length field of its internet header is less than or equal to 576) can
be transferred between any two VLN clients. Larger datagrams may be trans-
ferred between some client pairs. Clients should generally avoid sending data-
grams exceeding 576 octets unless there is clear need to do so, and the sender is
certain that all hosts involved can process the outsize In conjunction
with Cronus object management.

In order to reduce the number of times datagram text is copied as the data-
gram passes through the protocol hierarchy at the sending and receiving hosts.
When a message is passing down (towards the physical layer) it is successively
“wrapped” by the protocol layers. Addition of the “wrapper” — header and trailer
fields — can be done without copying the message text if the header and trailer
can be linked into the message representation. In the particular, when an IP im-
plementation is the client of the VLN layer a linked structure is also desirable to
permit ‘reassembly’ of datagrams (the merger of several ‘fragment’ datagrams
into one larger datagram) inside the IP layer without copying data repeatedly. At
the VLN interface, a special interpretation is placed upon the Destination Ad-
dress in the Internet header, which allows VLN broadcast and multicast ad-
dresses to be encoded in the Internet address structure.

Memorize the following words and word-groups:
abstraction — abcTpakuus, 0TBNeYeHNe, abCcTparnposaHme
addressing related features — 0c06eHHOCTI, CBSI3aHHbIE C agpecalmeit
to assert — yTBepXaatb, 3aABNATb, OTCTaMBaTb
belief — y6exxgeHune, noHNMMaHue
broadcast addressing — 06LLef0CTYNHas agpecaums
cluster — rpynna; nakeT; Knacrep
community — 06LLHOCTb; 06LLMHA; 06LLECTBEHHOCTb
compatibility — coBMecTMmocTb
consistent — COBMeCTUMBIiA, COrflacyroLLmincs
datagram — faHHorpamma
dependent — MKCUPOBaHHBIA
destination address — ajpec Ha3HauyeHUs; agpec TepMUHaNa, KOTOPbIA BbI3bl-
BatoT
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to evolve — pa3BmBaTh; pa3BepTbiBaTh

feature — 0CO6EHHOCTb; XapaKTepHasa YepTa

field — none, cthepa; YacTb 3aNMUCK AaHHbIX

to foster — cnoco6¢cTBOBATH

gateway — MeXCeTeBOW UHTepeinc

header — 3aros0BoK

hide (hid, hidden) — npaTaTtb; 3aKpbIBaTh; CKPbIBATb

hierarchy — nepapxus

host — LleHTpa/bHbIn KOMMBIOTEP; FNaBHbIA KOMIMbIOTEp

interface — HTepWeNc; CTbIK; cornacoBaHme

interhost — cepBep; MeXceTeBOM KOMMbHOTEP

internet protocol — NPOTOKO MEXCETEBOIO B3aUMOAENCTBUSA; NHTEPHET-
MPOTOKO/T

iSSue — CMOopHbI BONPOC, NpeAMeT 06CYXXAeHWS; pe3ynbTar, UTor
layer — ypoBeHb, cnoii

physical layer — ypoBeHb (pr13nyecKoro kaHana (CBs3sn)

mapping — KapTMpOoBaHWe; NPOKNaLKa MapLupyTa

merger — 06beanHeHne (6aHKOB, NPeAnPUATUA U T. 1.)

multicast addressing — rpynnosas agpecaums (B ceTsx)

octet — BocbMepKa; 6ainT (8 61UTOB)

outsize — pa3mep 60/bLUE CTAaH4APTHOIO

peculiarity — cneyngmyHOCTb, 0COB6EHHOCTb

precise — TOYHbIW, ONpeeneHHbI

reassembly — noBTopHas cbopka

regardless of — He3aB1CKMMO OT

substitutability — 3ameHsieMOCTb

trailer — KoHeyHasi oTMeTKa (0603HaYEHNE); 3aKNKUNTENbHBINA 3HaK (TPeit-

nep)
e wrapped — OKyTaHHbI; OXBaYeHHbI

* % * % *

DARPA (Defense Advanced Research Projects Agency)

Exercises

Exercise 1. Answer the following questions.

1. What do the addressing related features include? 2. What is the Virtual
Local Network? 3. What does the VLN consist of? 4. What is software depend-
ent upon? 5. How is the VLN viewed? 6. What is the structure of messages
which pass through the VLN interface between client processes and the VLN
implementation identical to? 7. What datagram can be transferred between any
two VLN clients? 8. What should clients avoid? 9. When is a datagram text cop-
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ied in order to reduce the number of times? 10. What allows VLN broadcast and
multicast addresses to be encoded in the internet address structure?

Exercise 2. Give the Past Indefinite Tense and Past Participles of the fol-
lowing verbs. Translate them:

To include, to expect, to send, to receive, to build, to provide, to evolve, to
possess, to vary, to link, to foster, to enhance.

Exercise 3. Make the following sentences interrogative, paying attention
to the Future Indefinite Tense.

1. Different instances of the cluster will utilize different physical local net-
works. 2. A general distinction will be made between these services designed for
the wider consumer market. 3. In the wireless multimedia age, standard voice
telephony will be enhanced by the use of data, streaming video, and graphic im-
ages. 4. The use of wireless local area networks (LANSs) will also enable corpo-
rations to provide employees with access to a whole range of services. 5. Exist-
ing software components will provide electronic mail, remote terminal access,
and the file transfer in a straightforward manner. 6. The obligation to provide
interconnections will be based on an acceptable EU benchmark. 7. We shall
have to establish the necessary technical conditions in around 1,200 locations.
8. New equipment will take time to be delivered and installed. 9. In practice this
representation will vary from host to host.

Exercise 4. Translate the following sentences with a modal verb can:

1. You can’t stay here after this. 2. You can no longer enter the control
room and engine room. 3. He can control the solar station perfectly. 4. We can’t
let him continue this nonsense. 5. | can tell you all the robot circuits are in-
volved. 6. He can’t really describe it. 7. Can you see the light from our torches?
8. He can’t communicate with all six subsidiaries at the same time. 9. | can’t un-
derstand everything, because my own mind is so different. 10. He can’t tell us
the truth if he knows the truth would hurt us.

(From “I, Robot” of Isaac Asimov)

Exercise 5. Find the sentences with a modal verb can in the text and
translate them.
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Unit 111
Text1

Computer Communications Requirements

Although in many instances computers are used to perform their intended
role in a stand-alone mode, in others there is a need to interwork and exchange
data with other computers. In financial applications, for example, to carry out
funds transfers from one institution computer to another, in travel applications to
access the reservation systems belonging to various airlines, and so on. The gen-
eral requirement in all of these applications is for application programs running
in different computers to cooperate to achieve a specific distributed application
function. To achieve this, three basic issues must be considered. These are

shown in diagrammatic form in Fig. 1.
Comunication

Comunication
Subsystem Subsystem

User-to-user
Communication

A
A 4

Computer-to-computer
Communication

A

A A

Computer-to-network Communication

Data Communication Network

AP=Application process

FIGURE 1. Computer communication schematic

The fundamental requirement in all applications that involve two or more
computers is the provision of a suitable data communications facility. This may
comprise a local area network (LAN), if the computers are distributed around a
single site, a wide area network (WAN), if the computers are situated at differ-
ent sites or an internetwork if multiple interconnected network types are in-
volved. Associated with these different network types is a set of access proto-
cols, which enable a communications path between two computers to be estab-
lished and for data to be transferred across this path. Typically, these protocols
differ for the different network types. In addition to these access protocols, the
communication subsystem in each computer must provide additional functional-
ity. For example, if the communicating computers are of different types, possi-
bly with different word sizes and character sets, then a means of ensuring the
transferred data is interpreted in the same way in each computer must be incor-



18 Introduction to communication system

porated. Also, the computers may use different file systems and hence function-
ality to enable application programs, normally referred to as application proc-
esses (APs), to access these in a standardized way must also be included. All of
these issues must be considered when communicating data between two com-
puters.

Memorize the following words and word-groups:

access protocol — npotokon goctyna (B ceTax)

application process — npuknagHoi npowecc

associated with — coeIMHEHHbIN C; AeACTBYIOLLNIA C

carrier — npegnpuAaTye CBA3N

communication facility — cnoco6 cBssu

to exchange data — 06MeHMBaTLCA AaHHBLIMU (MHOPMaLMein)
funds transfer — nepegava kanutana (poHA0B)

to incorporate — 06beANHATL, BKIHOYATb

in many instances — BO MHOTUX C/ly4asx

internetwork — coegnHeHne ceTei, 06beANHEHHAsA CETb

to interpret — MHTEpPrPeTMPOBAThL, NMEPEBOANTL

ISsue — 06CTOATE/ILCTBO

path — TpakT, KaHan

set — Habop

stand — alone mode — peXxum 0TAeNbHON No3nLMKN (YCTaHOBKM)
wide area network — ceTb CBS3U MeXAY YAaNEHHLIMW MYHKTaMW

Exercises

Exercise 1. Answer the following questions.

1. Where are computers used? 2. What is the general requirement in all of
these applications? 3. How can the provision of a suitable data communications
facility be understood? 4. What do access protocols enable? 5. What additional
functionality must the communication subsystem in each computer provide? 6.
May the computer use different file systems?

Exercise 2. Suggest the word — combinations equivalent in their meaning
to those given in Russian:

Cneunduyeckas QyHKUMS pacnpefenéHHoOro npuMeHeHMs; nogcucrema
CBSI3M; CETb C MHOIOKPaTHbIM B3aUMO/ENCTBMEM; MPOrpaMmbl, BbINOHAEMbIE B
pasHbIX KOMMbOTEPaX; AaHHble, KOTOpbIE CrefdyeT nepeAasarb Mo 3TOMY KaHa-
ny.

Exercise 3. Define the function of Participle 11, translate the sentences:

1. The standards established for use in the computer industry were con-
cerned primarily with either the internal operation of a computer or the connec-
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tion of a local peripheral device. 2. Such systems are known as closed systems.
3. The complete communication subsystem is broken down into a number of
layers. 4. Public carriers have started to provide more extensive distributed in-
formation services. 5. Early attempts at implementing the software were often
based on a single, complex, unstructured program.

Exercise 4. Use these sentences to make questions. Begin your question
with the word(s) in brackets:

1. The current system of Internet addressing should be replaced by Internet
protocol version 6. (What?) 2. Network operators can only store traffic data for
limited periods. (How long?) 3. A number of alternative carriers have entered
into a commercial partnership to exchange voice and Internet traffic. (Why?) 4.
The combined coverage of the networks will include Belgium, Denmark,
Finland, France, Germany and the Netherlands. (What countries?) 5. The rec-
ommendations have resulted in compatibility between the equipment from dif-
ferent vendors. (Where?)

Text 2

The open systems interconnections

In the mid-1970s as different types of distributed systems (based on both
public and private data networks) started to proliferate, the potential advantages
of open systems were acknowledged by the computer industry. As a result, a
range of standards started to be introduced. The first was concerned with the
overall structure of the complete communication subsystem within each com-
puter. This was produced by the International Standards Organization (1SO) and
Is known as the ISO reference model for open systems interconnection (OSI).

The aim of the 1SO reference model is to provide a framework for the coor-
dination of standards development and to allow existing and evolving standards
activities to be set within a common framework. The aim is to allow an applica-
tion process in any computer that supports a particular set of standards to com-
munication freely with an application process in any other computer that sup-
ports the same standards, irrespective of its origin of manufacture.

Some examples of application processes are the following:
- a process (program) executing in a computer and accessing a remote file sys-
tem
- a process acting as a central file service (server) to a distributed community of
(client) processes
- a process on an office workstation (computer) accessing an electronic mail ser-
vice
- a process acting as an electronic mail server to a distributed community of (cli-
ent) processes
- a process in a supervisory computer controlling a distributed community of
computer-based instruments or robot controllers associated with a process or
automated manufacturing plant
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- a process in an instrument or robot controller receiving commands and return-
Ing results to a supervisory system

- a process in a bank computer that initiates debit and credit operations on a re-
mote system

Open systems interconnection is concerned with the exchange of informa-
tion between such processes. The aim to enable application processes to cooper-
ate in carrying out a particular (distributed) information processing task irrespec-
tive of the computers on which they are running.

A communication subsystem is a complex piece of hardware and software.
The ISO has adopted a layered approach for the reference model. The complete
communication subsystem is broken down into a number of layers each of
which performs a well-defined function. Conceptually, these layers can be con-
sidered as performing one of two generic functions, network-dependent func-
tions and application-oriented functions.

Both the network-dependent and application-oriented (network-
independent) components of the OSI model are implemented as a number of
layers.

Each layer performs a well-defined function in the context of the overall
communication subsystem. It operates according to a defined protocol by ex-
changing messages, both user data and additional control information, with a
corresponding peer layer in a remote system. Each layer has a well-defined in-
terface between itself and the layer immediately above and below.

Consequently, the implementation of a particular protocol layer is inde-
pendent of all other layers.

Memorize the following words and word-groups:

to acknowledge — npusHaBeatb, AoNycKaTb; MOATBEPXKAATb
aim — uesnb

approach — nogxog

to execute — CMOMHATb, BbINOMHATb; OCYLLECTBNATb
framework — CTpyKTypa; Kapkac

generic — o6Lwmi

to implement — peannsoBatb

irrespective of — He3aBMCMMO OT

overall structure — BceobLLasa CTpyKTypa

to perform — BbINONHATB, Aenatb

to proliferate — pacnpoCTpaHATLCA; YBe/IMYMBATb
reference model — aTanioHHaA moaenb

remote — yaanéHHbIin; AUCTaHLMOHHbII

SUpervisory — KOHTPOIMPYHOLLMIA

workstation — TepMUHasT; aBTOMaTU3MPOBaHHOE paboyee MeCTo, CTaHUMA
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Exercises

Exercise 1. Answer the following questions.

1. When were the potential advantages of open systems acknowledged?
2. What was the first standard concerned with? 3. What model is known as the
ISO reference model? 4. What can you say about the aim of the 1SO reference
model? 5. What application processes that may wish to communicate in an open
way do you know? 6. What is the open systems interconnection concerned with?
7. How can these layers be considered? 8. How does each layer operate?

Exercise 2. Change the following statements into questions paying atten-
tion to modal verbs and their equivalents.

1. The equipment from one manufacturer can be interchangeable with
equipment from any other manufacturer. 2. The initial payment must be made as
planned, but later payments may be spread out over time. 3. You can have full
and secure access to all the network facilities that you have at your desk. 4. Op-
erators can be rendered in the form of subscriber numbers, penetration levels
and growth in either numerical or percentage form. 5. A pan-Nordic cellular ser-
vice has to enable Norwegian customers to make calls to and from the Nordic
countries. 6. This operator is to provide broadband services to corporations and
carriers through its pan-European, trans-Atlantic and metropolitan area net-
works.

Exercise 3. Translate the following sentences into Russian, paying atten-
tion to different functions of the infinitive.

1. To cater for such services, the standard bodies have formulated standards
concerned with control of the exchange of information between systems. 2. To
overcome this problem, the International Standards Organization has adopted a
layered approach for the reference model. 3. The open systems interconnection
environment adds additional application-oriented protocols to allow end systems
to communicate with one another in an open way. 4. To fulfill this condition was
hopelessly out of my power. 5. The decision by Tele 1 Europe to change its
name to Song Networks was made in accordance with proposals put forward by
the Board of Directors. 6. Equipment to be supplied includes mobile switching
centers, transit switching layer equipment. 7. This model of phone equipped
with video screen is expected to be delivered by end of this month. 8. The first
question to be faced in the establishment of the reference model is to provide a
framework for the coordination of standards.

Exercise 4. Speak on:

International standards organization reference model.

Text 3

The OSI seven-layer model
The logical structure of the ISO reference model is made up of seven proto-
col layers. The three lowest layers (1-3) are network dependent and are con-
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cerned with the protocols associated with the data communication network being
used to link the two communicating computers. In contrast, the three upper lay-
ers (5-7) are application oriented and are concerned with the protocols that allow
two end user application processes to interact with each other, normally through
a range of services offered by the local operating system. The intermediate
transport layer (4) masks the upper application-oriented layers from the detailed
operation of the lower network-dependent layers. Essentially, it builds on the
services provided by the latter to provide the application-oriented layers with a
network-independent message interchange service.

The function of each layer is specified formally as a protocol that defines
the set of rules and conventions used by the layer to communicate with a similar
peer layer in another (remote) system. Each layer provides a defined set of ser-
vices to the layer immediately above. It also uses the services provided by the
layer immediately below it to transport the message units associated with the
protocol to the remote peer layer. For example, the transport layer provides a
network-independent message transport service to the session layer above it and
uses the service provided by the network layer below it to transfer the set of
message units associated with the transport protocol to a peer transport layer in
another system. Conceptually, therefore, each layer communicates with a similar
peer layer in a remote system according to a defined protocol. However, in prac-
tice the resulting protocol message units of the layer are passed by means of the
services provided by the next lower layer. The basic functions of each layer are
summarized in Fig 2.

The application layer provides the user interface, normally an application
program/process, to a range of networkwide distributed information services.
These include file transfer access and management, as well as general document
and message interchange services such as electronic mail.

The presentation layer is concerned with the representation (syntax) of data
during transfer between two communicating application processes. It negotiates
and selects the appropriate transfer syntax (es) to be used during a transaction so
that the syntax (structure) of the messages being exchanged between two appli-
cation entities is maintained.

The session layer provides the means that enables two application layer
protocol entities to organize and synchronize their dialogue and manage their
data exchange.

The transport layer acts as the interface between the higher application-
oriented layers and the underlying network-dependent protocol layers.

The transport layer offers a number of classes of service which cater for the
varying quality of service provided by different types of network.
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End-user application process

Distributed information
services

File transfer, access and management,
Document and message interchange,
Job transfer and manipulation

Syntax-independent message
interchange service

Transfer syntax negotiation, data representation
transformation

Dialogue and synchronization
Control for application entities

Network-independent mes-
sage interchange service

A y

End-to-end message transfer (connection man-
agement, error control, fragmentation, flow con-
trol)

Mechanical and electrical
Network interface definitions

Physical connection to
network termination
equipment

Data Communication Network

FIGURE 2. Protocol layer summary

Memorize the following words and word-groups:

to build on — ocHOBbIBaTbL
to cater for — o6cnyXunBaThb
conceptually — ymo3putesnibHO

Application
layer

Presentation
layer

Session
layer

Transport
layer

Link layer

Physical
layer
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convention — KOHBEHLMS, CornalleHune

entity — peasibHOCTb

framing — ycTaHOBKa B paMKy; CUHXPOHM3aLmA

to interact — B3aMO/ZeiNCTBOBaTb

interchange — o6meH

link layer — kaHa/IbHbI YPOBEHb

to mask — MackmMpoBaThb; CKpbIBaTb

to negotiate — nepefasaTh; 3anyckarb

operation — akcnyartauus; paboTa; OYHKLUMOHMPOBAHWE; PEXMM
presentation layer — ypoBeHb 1306paxeHns (Nogayun) AaHHbIX
representation — npefcTaBfeHne, N306paXkeHne

set — Habop; YCTPONCTBO

session layer — ceaHCHbI YpOBEHb

transaction — 06paboTKa 3anpoca; TpaHcakuums

transfer — nepefaya; nepeaasarb

transport layer — TpaHCMOPTHBbIN YPOBEHb

unit — ycTpoincTBo; 610K; MOAY/b

Exercises

Exercise 1. Answer the following questions.

1. How many protocol layers is the logical structure of the ISO reference
model made up of? 2. What are the three lowest layers concerned with? 3. What
Is the function of the intermediate transport layer? 4. What services does the
transport layer build on? 5. What is the operation principle of each layer?
6. What does the application layer provide? 7. What is the presentation layer
used for? 8. Is there any difference between the presentation layer and the ses-
sion layer? 9. What can you say about the transport layer?

Exercise 2. State the function of the Present Participle Passive (being
done).

1. Being written in pencil, the text was difficult to read. 2. The service be-
ing announced will be provided by the end of this month. 3. The three lowest
layers are concerned with the protocols associated with the data communication
network being used to link the two communicating computers. 4. The presenta-
tion layer selects the appropriate transfer syntax so that the syntax of the mes-
sages being exchanged between two application entities is maintained. 5. Being
instructed a computer stores the code number 01000001.

Exercise 3. Put the Infinitives in brackets in the Present Indefinite Tense
(Passive):

1. A satcom link (to use) now for most radio outside broadcasts because of
the high standard of sound that (to demand). 2 The Spaceway system (to plan) to
provide coverage in four main regions: North America, Asia Pacific, Latin
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America and Europe. 3. If errors (to detect) in a frame then the frame (to dis-
card) simply. 4. A set of standards (to associate) with each layer. 5. Operators
(to face) also with the issue of what to do with strong local brands when imple-
menting their own global branding strategies. 6. Brands (to use) to create an im-
age for companies, but companies must live up to this image. 7. Swedish-based
subsidiary will acquire the part of Sonera Sverige’s business that (to devote) to
providing fixed-network services.

Exercise 4. Mind the meanings of ‘time’.

1. The experiment was repeated many times. 2. The power radiated as light
Is almost three times as great as the power radiated at heat. 3. At the same time
this process is repeated twice. 4. One knows that iron molecules are magnets at
all time. 5. They studied the reaction very carefully because it lasted over a long
time. 6. Cable lines shall be laid within minimum time. 7. This phenomenon is
known from ancient times. 8. Large turbines have an economy of three or four
times that of the units in small plants. 9. The distance is measured by the travel
time. 10. The goods were not delivered in time.

Exercise 5. Use these linking words to complete these sentences: In order
to, however, and, although, as long as.

1. The new robot worked well .... Donovan watched it. 2 ... watch Dave in
an emergency they had to create their own emergency. 3. .... the hole at the end
of tunnel was too small for a man to go through, they could look through it.
4. Powell lifted the detonator ...threw it down the tunnel. 5. The result, ... , was
not what they expected.

(From “I, Robot” of Isaac Asimov)
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unit IV
Text1

Today’s astonishing computers

A little over two decades ago computers were small, not very reliable and
comparatively slow in operation. Since then several generations of complex
electronic computing equipment have been developed, each was significantly
better than the one before it.

Almost every day a new use is found for these astonishing devices to help
man.

Computer, as we know, is a complex of electronic device that can store and
process vast quantities of information. Following instructions, computing
equipment will perform calculations such as addition, subtraction, multiplication
and division, and provide the answers to the most complicated problems in a
tiny fraction of time.

There are two main types of computing equipment — digital and analogue.
They work differently and yield different results.

The digital computer deals with numbers, or coded alphabetic characters,
and performs with them required calculations. In its functional aspects the digi-
tal computer can be compared to the adding machine, except that this electronic
device solves problems of a much more complex nature than the desk-type add-
ing machine. In the digital computer the method of representing numbers and all
other information is based on the use of binary digits (abbreviated as “bits”),
which are represented by electronic signals.

The digital computer can perform a much broader range of functions than
the analogue computer. Its applications include all forms of automatic control in
science and industry and first of all in space exploration, in automatic piloting,
navigation, etc.

The analogue computer, as its name implies, produces the analogues or par-
allels of the process to be described or the problem to be solved. It relates physi-
cal changes and variables, such as changes of shaft position, changes of voltage,
etc., in the form of mathematical equations. It can be used in industrial auto-
matic process, guided missiles, radar and various other systems where the ef-
fects of physical variables must be mathematically coordinated. In fact the ana-
logue computer can control most processes which can be described by equations
and functions.

Both the digital and the analogue computers must be “programmed”. This
means they must be set up in such a way that they can produce a result from the
information fed into them, and the information itself must be organized so it can
be handled by the machines.

These devices working by electronic impulses perform operations at fantas-
tic speed and with great precision.
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Memorize the following words and word-groups:

analogue computer — aHa0roBbIi KOMNbIOTEP

astonishing — yauBuTebHbI1, HEOObIKHOBEHHbIN

as its name implies — Kak ykasblBaeT Ha3BaHue

by means of — nocpeacTBoM, Npv NOMOLL

computing equipment — BbluMCINTENIbHOE (CYETHOE) 060PYAOBaHMeE
to deal with — umeTb geno ¢ yem-n.; 3aHMMaTbCA

desk-type adding machine — HacTonbHas CYETHas MallWHA, HACTO/bHbIN
Ka/lbKyNAaTop

digital computer — UMpPOBOI KOMMbLIOTEP

except that — 3a UICK/IKOYEHMEM TOr0, YTO

guided missile — ynpasnsemas pakeTa

in fact — dhakTnyecku

mathematical equation — maTemaTnyeckoe ypaBHeHWe

to mean — 3HauNTb, O3Ha4aTb, NOApPasymeBaTb

meaning — 3HayeHne

means — CpeACTBO

to operate — leiicTBOBaTb, paboTaTb, yNpaBisaTb

problem to be solved — npo6nema, KOTOPYO HY>XHO PELUNTb

to process information (data) — o6pabatbiBaTb MHPOPMaLNIO (LaHHbIE)
process to be described — npouecc, KOTOpbIn HY)XHO onucathb

shaft — ny4 cBeTa

subtraction — BbluMTaHNe

variable — nepemeHHas BennymHa

to yield results — faBaTb pe3ynbTarhl

Exercises

Exercise 1. Answer the following questions.

1. What kinds of computers were over two decades ago? 2. What is a com-
puter? 3. What operations can a digital computer perform? 4. Do digital and ana-
logue computers work differently? 5. What is the difference between digital and
analogue computers? 6. Is the word “bit” an abbreviation? 7. Does an analogue
computer perform as broad range of functions as a digital one? 8. What are the
main fields of analogue computers application? 9. How can physical processes
be described mathematically?

Exercise 2. Translate the following passive constructions paying attention
to the verbs followed by prepositions:

1. Electronic computers are paid attention to in this article. 2. The speed of
information processing should be paid special attention to. 3. The results of cal-
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culations performed by a computer can be fully relied upon. 4. All the achieve-
ments of modern science are being made use of in modern production processes.
5. Different types and systems of computing technique were being spoken about
at the January conference. 6. | think all the necessary materials should be imme-
diately sent for. 7. What was your experiment followed by? 8. This device
should be looked upon as an experimental one. 9. His works are often referred to
by other researchers. 10. My decision may be influenced by your advice.
11. The invention is much talked about.

Exercise 3. Write down questions to which the following statements may
serve as the answers, paying attention to the Past Indefinite Tense.

1. In 1833 an English inventor and mathematician Charles Babbage de-
signed the first computer. 2. H.H. Aiken, professor of Harvard University, built
the first programmed computer in 1939. 3. They did many operations on the
computer. 4. He solved this equation by using a computer. 5. My friend didn’t
know how to compile the program.

Exercise 4. Form Participle Il from the following verbs:

To develop, to process, to compare, to mean, to set up, to provide, to per-
form, to include, to feed, to describe.

Exercise 5. Supply the correct pronouns in these sentences.

1. When | saw the doctor she told me to go back and see ... again next
week. 2. My lawyer told me, ... would ring me when he had information |
wanted. 3. The artist, Rembrandt, painted several pictures of ... wife. 4. My
daughter works as a journalist and ... has been very successful. 5. My friend
works as an engineer at a large Institute, ... is famous for his invention.

Text 2

Computer components and their functions

The computers of various machines differ in design and operating princi-
ples, but most have the common functions.

The essential constituent parts necessary to perform these functions in a
general-purpose computer are as follows:

(1) Input unit whereby data (in the form of numbers) and operating instruc-
tions can be supplied to the machine. Input devices change human language into
machine language or, in technical words, into the machine coding system. This
is very simple in principle, but in practice, especially in business data processing
applications where input volume is large and arrives from many sources. The
problem to be solved by the operator arises not only from the conversion of hu-
man language into machine language, but also from a conversion of the lan-
guage of one machine to another machine.

So we get data into the machine. Once we have data inside the machine,
what do we do with them? Let us assume that we have operated upon these data
and are ready to bring them out. And now we need special devices to perform
the same functions as the input devices, but in reverse.
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(2) Output devices, the function of which is to convert machine language
into human language. A typical output device may be an electric typewriter acti-
vated by the electric impulses supplied by the machine which causes the type
keys to strike the ribbon and paper; the carriage to return and so forth. Output
devices are also used for displaying the results of the calculations. The input and
output devices are called peripherals. In practice, input and output usually repre-
sent one physical unit or section which is the transducer through which the sys-
tem communicates with the external world. In one direction it processes some
physical medium, such as paper or magnetic tape, punched cards, etc., which has
been prepared in a language intelligible to the machine. In the opposite direction
it provides information, which has been prepared by the machine system, in a
form what is intelligible to the operator.

(3) Storage, or memory, is the nerve center of the machine. It is the section
in which the initial data, intermediate results, final results, and the statement of
the problem are stored. It also accepts the results that have been computed by
the arithmetic section. The properties of the information storage device or mem-
ory are central to the good functioning of an electronic computer. The capacity,
the performance, the recall time, and the reliability of the information storage
device are of the vital importance for the solution of problems.

(4) The operations unit or arithmetic section performs the arithmetic opera-
tions, such as, addition, subtraction, multiplication, division, square, rooting, etc.
To do arithmetic is the main job of the operations unit in a scientific computer.
In addition to arithmetic, the operations unit of a data processing machine
should be capable of performing sorting operations and of doing a certain num-
ber of logical operations, such as comparing different quantities, classifying
transactions, selecting accounts and so forth. It is in the arithmetic section that
the actual solution of the problem is done.

(5) Control unit or just control is the mastermind of the machine. Control is
a section that interprets the instructions, the machine has been given, and causes
the other parts to perform the appropriate functions at the appropriate time. The
control unit is really the central executive of the machine. It controls the opera-
tions of all the other units of the computer, but it does so purely on the basis of
instructions that have to be supplied to the machine by either its builder or its
user.

Memorize the following words and word — groups:

to accept information — NPUHATL MHOPMALNIO

and so forth — v Tak ganee

appropriate — COOTBETCTBYHOLLMIA

to arise from — npouncTekatb 13 (0T)

to arrive from many sources — nocTynatb U3 MHOIMX NCTOYHMKOB
to be activated (by) — npMBOANTLCA B AENCTBME YEM-NNOO
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to be capable of performing... - 6b6ITb CNOCOGHBLIM BbIMOMHWUTD...
to bring out — BbIBOAWTb

carriage — KapeTtka

constituent parts — cocTaBHble 4YacTu

to convert — npeobpa3oBbIBaTH

to display the results of the calculations — BbIBeCTV Ha 3KpaH pe3y/bTaTbl
BbIYNCNEHNI

to get into — BXO4MTb, BBOAUTb

intelligible (t0) — NOHATHBIN (AN8), LOCTYMNHbINA

performance — ad))eKTMBHOCTb; UCMONHEHWE

peripheral — BHeLLIHee YCTPOWCTBO; NepUMepuinHoe YyCTPorCcTBO
physical medium — unsnyeckas cpega (NocpeaHUK)

punched card (tape) — nepdokapTa (/1eHTa)

recall time — Bpems Bblgauu (MHopmaLun)

ribbon — neHTa (NULLyLLen MawmnHKK) [‘rib n]

storage capacity — EMKOCTb NamaTu

such as — Takom Kak

transaction — 06paboTka 3anpoca; TpaHcakumsa

transducer — npeobpa3oBaTe/ib

whereby — nocpefCcTBOM Yero

Exercises

Exercise 1. Answer the following questions.

1. Do the computers of various machines differ in design? 2. What are the
essential constituent parts of a general — purpose computer? 3. What problem do
operators face when they deal with the conversion of human language into ma-
chine language? 4. What is the function of output devices? 5. How is a typical
output device activated? 6. How are the input and output devices called?
7. Where are the intermediate and final results stored? 8. What is of the vital im-
portance for the solution of problems? 9. What does an arithmetic section per-
form? 10. What is the main job of the operations unit in a scientific computer?
11. Should the operations unit of data processing machine be capable of per-
forming sorting operations? 12. What operations should they be capable of do-
ing? 13. What does the control unit execute? 14. What controls the operations of
all the other units of the computer?

Exercise 2. Find in the text the word-combinations corresponding to their
Russian ones given below:
610K BBOAA; B 06paTHOM Hanpas/ieHMM; YCTPOMCTBO BbIBOAA; KaK crefyeT Hu-
Xe; m3nyeckad cpefa; pasHble Be/IMYMHbLI; CMOCOOHbIA BbINOMAHATL; 610K
yrnpaB/eHns; 06paboTKa faHHbIX; COOTBETCTBYHOLLME MAHUMYNALMMN,
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Exercise 3. Translate the following sentences taking into account differ-

ent meanings of “once”:
OAHaX/bl, KOrfa-To, O41H pas
rnocse Toro, Kak
Once
KaK TO/IbKO, KOJlb CKOPO
ecnm

1. Once assembled, such networks can represent a substantial body of
knowledge. 2. Once we have data inside the machine, what do we do with them?
3. ARC group predicts that this will expand further once these devices are
equipped with wireless technology. 4. Once we discussed this problem. Don’t
you remember? 5. Once the machine has been designed and built, once it has
been programmed, it’s sufficient to push a button and let it proceed. 6. Once you
get past the mystique that has been built up around robots you will find that they
are not so hard to control. 7. A subroutine may be used many times but written
only once. 8. Once the switch is open no base current is flowing.

Exercise 4. Choose the correct form of a participle from those given in
brackets.

1. Information (being processed, having been processed, processing) by the
computer now is very important. 2. (Executing, having been executed, being
executed) a computer program is much like performing an experiment. 3. The
problem (being solved, solving, having solved) by the operator is connected
with the conversion of human language into machine language. 4. A microproc-
essor is the tiny processor (using, being used, used) in the microcomputers.
5. Computation is (emerging, emerged) as a major new approach to science.
6. A typical output device may be an electrical typewriter (activating, having ac-
tivated, activated) by the electric impulses (supplied, supplying) by machine.
7. (Changing, being changed, having been changed) into machine language in-
formation can be introduced into the computer. 7. The investigator can interact
directly with the computer, (modified, modifying) various aspects of a phe-
nomenon as new results are (obtaining, obtained). 8. The microcomputers were
the first computers (used, having used, using) a single microprocessor chip as
the processor. 9. There are two kinds of numbers (containing, contained) in ad-
dresses: permanent or constant numbers and temporary numbers.

Exercise 5. Put the Infinitives in brackets in Present Indefinite, Present
Continuous Tenses in the Active Voice. Translate the sentences into Russian:

1. They (to do) many operations on the computer. 2. Each of processors (to
carry out) a part of work. 3. A computer (to store) information which it (to re-
ceive). 4. She (to discuss) some questions with her instructor now. 5. During
process they (to exchange) the data. 6. Don’t make so much noise! I (to compile)
a program. 7. She always (to compare) her results with mine. 8. Owing to the
computer we usually (to process) a great deal of information.

Exercise 6. Reproduce the text in your own words.
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From the history of computer

The educated man of 200 years ago did not need to know anything about
science. The educated man of 25-30 years ago did not need to know anything
about computers. But educated man of today needs to have some significant
knowledge of science and a little significant knowledge about computer.

The word computer comes from a Latin word which means to count.

When Charles Babbage, a professor of Mathematics at Cambridge Univer-
sity, designed the first computer in 1833 he could not imagine the situation we
find ourselves in today. The mathematical program for his machine had been
composed by Lord Byron’s daughter.

The first programmed computer which operated successfully was built in
1939 by H. H. Aiken, professor of Harvard University.

Computers are used more and more often in the world today, for the simple
reason that they are far more efficient than human beings. They have much bet-
ter memories and they can store much information. No man alive can do
500,000 sums in one second, but a computer can.

Nowadays computers greatly increase man’s thinking capabilities of plan-
ning, analyzing, computing and controlling. They penetrate almost into all
spheres of our modern society.
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Unit V
Text 1

Multilingual Word-processing
The advantages of computerized typing and editing are now being extended to
all the living languages of the world. Even a complex script such as Japanese or
Arabic can be processed
By Joseph D. Becker

The personal computer has become a familiar fixture in the office and even
in the home. It is useful in many ways, and yet for all its novel applications it is
probably most useful to the greatest number of people when it serves the func-
tion of a type-writer. In that role it enables the user to see text displayed on a
screen, so that words can be reviewed and revised before they are ever commit-
ted to paper. The kind of computer program underlying such an ability is known
as word-processing software.

So far computers have largely been limited to the processing of words in
the English language. That is not surprising: most computers have been devel-
oped in English-speaking countries, and English is the principal language of in-
ternational commerce. Yet there is no technical reason for word-processing to be
confined to English. Indeed, it is possible for word-processing software to han-
dle not only French, German, Italian, Russian, Spanish and other European lan-
guages but also more complex scripts such as Arabic, Chinese, Hebrew, Japa-
nese and Korean.

In effect, therefore, the fascinating diversity of mankind’s written symbols
must be made to coexist in the computer. At first it hardly seems possible. Ara-
bic script, for example, flows from right to left in curlicues. Thai and other
scripts, originally from ancient India, have letters that sometimes step around
their neighbors and thus get out of phonetic order. Occasionally a letter even
surrounds its neighbors. Korean groups its letters in syllabic clusters. (The Ko-
rean alphabet was designed from scratch by a group of scholars in 1443). Chi-
nese, the most ancient of living writing systems, consists of tens of thousands of
ideographic characters. Each character is a miniature calligraphic composition
inside its own square frame. It seems the developers of the computer and of
word-processing software were coddled by the English language, which happens
to have the simplest writing system of all: unadorned alphabetic letters laid out
one after the other.

Memorize the following words and word-groups

e cluster — rpynna, CKonseHve; naket
e to be confined — 6bITb OrpaHNYEHHbIM
e tocoddle — HeXUTb
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curlicue — npuyyaMBasn 3aBUTYLLKA, Y30P
diversity — MHOroobpasue

fascinating — o4yapoBaTe/ibHbIN

fixture — 4yTO-TO TBEPAO YCTAHOB/IEHHOE

to handle — o6pabaTbiBaTh

Hebrew — nBpuT (ApeBHEEBPENCKNIA A3bIK)
limit to v. — orpaHnuymBatb

multilingual — MHOr0sA3bIKOBbI

novel — HOBbII, HENPUBbIYHbIN

review v. — repecMaTpuBaTh, aHa/IM3npoBaTh
revise V. — MpoBepsiTb, UCNPaBAATb

scratch — Kapaky/s, 3aKoproyka

script — TekcT

software — nporpaMMHoe obecreyeHue
syllabic — cnoroBol

Thai — Tainckuii

type-writer — nWyLLas MalnHKa
unadorned — HeyKpaLLUeHHbIN

underlying — 0CHOBHOM, neXaLLuii B 0CHOBE
word-processing — 06paboTka TekcTa

Exercises

Exercise 1. Answer the following questions

1. Is the personal computer useful to the greatest number of people? Why?
2. Where can the user see text displayed? 3. What is known as word-processing
software? 4. What language have computers been limited to the processing of
words in? Why? 5. What languages is it possible to handle now? 6. How does
Arabic script flow? 7. What writing system is the most ancient? 8. Can a com-
plex script such as Chinese, Japanese or Arabic be processed?

Exercise 2. Find in the text the sentences corresponding to their Russian
equivalents given below.

1. Takas nporpamma fis KOMMbOTepa U3BECTHA KaK CUCTeMa TEKCTOBOWA
06paboTKn. 2. ApabCKMn TEKCT UAET CnpaBa HaeBo NPUYYANNBLIMU 3aBUTYLL-
Kamu. 3. Ha nepsblii B3rNsf 3T0 KaXETCH, BPAL /I BO3MOXHbIM. 4. Bce e HeT
MPUYMH 4Ns TOro, YTO6bl TeKCTOBas 06paboTKa orpaHuMuMBanacb TO/bKO aHr-
NNACKUM A3bIKOM. 5. B 3TOM cyyae nosb3oBaTe/lb UMeeT BO3MOXXHOCTb BUAETb
TEKCT Ha 3KpaHe, NpuyeM TEKCT, Npex/e YeM OH byaeT HaneyaTaH, MOXET ObITb
OTKOPPEKTUPOBaH.

Exercise 3. Ask questions to which the following statements may serve as
answers. Pay attention to the Present Perfect Tense.
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1. Most computers have been developed in English-speaking countries.
2. Several important new features have been added to produce a valuable infor-
mation tool for the telecoms industry around the world. 3. This facility has been
optimized to present results in a meaningful way. 4. The personal computer has
become a familiar fixture in the home. 5. Sonera of Finland has detected a soft-
ware fault in some of the SIM cards. 6. Only 30 faulty cards have been reported.
7. So far computers have largely been limited to the processing of words in the
English language. 8. SBC has not yet been granted permission to offer long dis-
tance voice services. 9. SBC has announced plans to wire homes and small busi-
nesses with high-speed optical fiber.

Exercise 4. Analyze the following sentences having modals or their
equivalents. 1. Even these stable relationships can’t be regarded as ballast
against future changes in the market, however. 2. Satellite operators are begin-
ning to realise that they must work hand-in-hand with terrestrial operators in or-
der for their services to be commercially viable. 3. From the “Databank™ page
users can select one, two or up to five operators or countries, along with the
timeline of the statistics required. 4. Users can type in the name of the operator
or organization required, or can search according to lists of entries for each
European country. 5. Network operators must be compensated for any extra in-
vestments they have to make. 6. Finnish operator Sonera is to sell part of the
business of its Swedish-based subsidiary to Tele 1 Europe of Sweden. 7. You
can have full and secure access to all the network facilities that you have at your
desk. 8. It’s a case of where egos dare... 9. How dare you illustrate this exam-
ple?

* * * * *

Along with — BmecTe C

Text 2

Practical problems in multilingual word-processing

How can computer software originally designed to handle only English text
be broadened to encompass the full diversity of the world’s writing systems?
The many challenges of the task can be divided into three basic realms. There
must be a way for text to be represented in the memory of a computer; there
must be a way for text to be typed at the keyboard of the computer; there must
be a way for computer to present text to the typist; | shall refer to these realms as
encoding, typing and rendering. By rendering | mean both the display of text on
the screen of a computer and the printing of text on paper.

Encoding is governed by single, basic fact: the computer can store only
numbers. Indeed, it can store only binary numbers, consisting of strings of 0’s
and 1’s. Hence text is represented in a computer by storing a binary code num-
ber for each letter. In the case of the English language the American Standard
Code for Information Interchange, abbreviated ASCII, assigns the binary code
number 01000001 to the letter A, 01000010 to B, 01000011 to C and so on.
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Thus when you type an A on a computer keyboard, the computer is really being
instructed to store the code number 01000001. When the computer comes to
display or print a letter encoded as 01000001, its instructions cause it to draw a
symbol you recognize as an A. As long as the input and output instructions are
consistent, you have the illusion that the letter A itself was stored.
Computers generally store information in units of bytes, where each byte is
a group of eight bits. It therefore seems a sensible strategy to store text as one
byte per character. The trouble is, there are only 28, or 256, ways in which eight
0’s and 1’s can be combined in a byte. The living scripts of the world have far
more letters than that. A two-byte coding scheme, in which each letter would be
identified by two successive bytes, would yield 2'°, or 65,536, possible codes; a
three-byte coding scheme would yield 2%, or well over 16 million, codes. But
employing two or three bytes per letter where only one byte is needed would
waste space in the computer’s memory. The answer is to arrange for the encod-
ing to expand to two or three bytes per letter only when necessary. This can be
done by setting aside a few bytes as signals to the computer and putting those
signals into encoded text.
(By Joseph Becker)

Memorize the following words and word-groups

as long as — noka

to assign — onpegenatb

to be governed — perynnposatb

challenge — npo6nema, COMHeHWe

consistent — COBMeCTUMBIiA, COrflacyroLLmincs
to draw — go6bIBaThb

to encode — KoanpoBaTtb

to encompass — 3aknto4atb (B cebe), KacaTbCs
keyboard — knaBuarypa

to refer to — ccblnaTbCs Ha, NogpasymeBaTb
rendering — NepeBoA; U3MI0XKeHNe, nepegaya
sensible — pa3yMHbIlA, 3aMeTHbIN

to set aside — He y4nTbIBaTb

string — psg, cepus

typist — MawmMHMUCTKA

to yield [ji:ld] — npuHOCKTL, faBaTh, NPON3BOANTH
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Exercises

Exercise 1. Answer the following questions.

1. What can the many challenges of the task be divided into? 2. What is
meant by rendering? 3. How is encoding governed? 4. What units do computers
usually store information in? 5. What problems do the developers of software
face when they deal with multilingual word-processing software?

Exercise 2. Write down questions to which the following statements may
serve as the answers paying attention to Present Continuous Passive.

1. The network is being built to exploit the pent-up. 2. The computer is
really being instructed to store the code number 01000001. 3. The consideration
— of Japan Telecom, J-Phone Group and Airtel of Spain — is being financed by a
combination of Vodafone’s existing resources and placement of new Vodafone
shares. 4. This principle of functioning is being widely used nowadays. 5. The
advantages of computerized typing is now being extended to all the living lan-
guages of the world. 6. The roll out of next-generation network technologies is
being accelerated by demand for high-speed Internet connections.

Exercise 3. Translate the sentences with modals and their equivalents.

1. He’ll have to change his mind when he sees that. 2. How dare you take
these results? 3. They were to discuss the problem again. 4. Robot DV-5 has to
carry out mathematical problems. 5. He was able to destroy one of the robots.
6. There may have been a mistake. 7. As the psychologist of the company, you
must find out how the device works. 8. | needn’t tell you how important our
work is. 9. We cannot let the delivery ship leave the station. 10. You have to be
responsible for this situation. 11. He may be a very good man.

(From “I. Robot” of Isaac Asimov)

Exercise 4. Find Participle 11 in the text and state its function. Translate
the sentences into Russian.
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Unit VI
Text 1
Switching

In the old days, one telephone was connected to another telephone at
switchboards operated by humans. The human operators used cords with plugs
at each end to make the connections. Each plug had a tip and a ring about the tip
to create the electric circuit to carry the signals. A sleeve was used for signalling
purposes to indicate whether a circuit was in use. Each human operator could
reach as many as 10,000 jacks. The automation of the switchboard came early in
the history of telephony with Almon B. Strowger’s invention in 1892 of an elec-
tromechanical automatic switch and the creation of his Automatic Electric Com-
pany.

Now electromechanical switching is totally obsolete and today’s telephone
system utilizes electronic switching systems. However, the Strowger system,
known as step-by-step in the Bell System, was a thing of great mechanical inge-
nuity. But that is not possible with today’s computerized electronic systems.
Electromechanical switching was inflexible.

CONTROL

SWITCHING
LINES —  LINES
(CIRCUITS) NETWORK ——— (jreuits)

FIGURE 3. Switching System.

In general, a switching system consists of two major functional parts, as
shown in Fig. 3: (1) the switching network itself where one telephone call is
connected to another and (2) the means of control that determines the specific
connections. Calls can be connected by physically connecting wires to create an
electrical path, a technique called space switching. With space switching, indi-
vidual telephone circuits are connected physically to each other by some form of
electromechanical or electronic switch. Calls can also be connected by reorder-
ing the time sequence of digitized samples, a technique called time switching.
Modern digital switching systems frequently utilize both techniques in the
switching network.

In the past, the switching network utilized electromechanical technology to
accomplish space switching. This technology progressed over time from the
automated Strowger switch to the Bell System’s crossbar switch. The first
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crossbar switching system was installed in 1938, and crossbar switching systems
were still in use in the early 1990s.

The switching network in today’s switching systems is completely digital.
Telephone signals either arrive in digital or are converted to digital. The digital
signals are then switched, usually using a combination of electronic space
switching along with time switching of the sequence of digitized samples. The
space switches are shared by a number of digital calls connecting each of them
for short durations while a small number of bits in each sample are transferred.

Yesterday's switching systems were controlled by hard-wired electrome-
chanical relays. Today's switching systems are controlled by programmable
digital computers thereby offering great flexibility. The use of a digital computer
to control the operation of a switching network is called electronic switching or
stored-program control. The intelligence of stored-program control, coupled
with the capabilities of modern signalling systems, enables a wide variety of
functional services.

Memorize the following words and word — groups:

e to accomplish — BbINONHATb

e by reordering the time sequence — npv NOBTOPHOM YCTaHOB/EHUW NOC/eA0-
BaTe/IbHOCTU BPEMEHM

cord — aNeKTPUYECKUIA LLIHYP; N30/IMPOBaHHbIA NPOBOL

coupled with — cBA3aHHbIN C; CNapeHHbIN C

crossbar switch — KoopAMHaTHbI KOMMYTaTOp

to digitize — npeBpaLLaTh B LMHPOBYIO hopMy; AUCKPETU3NPOBATb
ingenuity [, in(d)zi’'nju:iti] — n3obpeTtaresibHOCTbL, MacTEPCTBO
jack — rHe3go; KNeMMHOe rHe30

obsolete [6bs li:t] — ycTapensbiii, BbilweawniA U3 ynoTpedneHns
path — kaHan; NyTb; TPaKT

plug — Buska (TeneoHHas)

sample — o6paseL

to share — pa3gensTtb; UCNOb30BaTb

signalling — nepefaya cMrHanoB; cUrHann3aums

sleeve — pykaB; naTpy6ok

space switching — KoMMmyTauma ¢ NPOCTPAHCTBEHHbLIM pa3feNeHneM KaHa-
NOB; NPOCTPAHCTBEHHAasA KOMMYTaL s

step-by-step connection — AeKaHO-LIaroBoe CoeAHeHne
stored-program control — MMKponporpammHoe yrnpas/ieHue

switch — nepekntoyaresib; KOMMyTaTop

switchboard — TenetoHHbIN KOMMYTaTOP

switching — KoMmyTaLms

time switching — koMmyTaums ¢ pasfeneHnem BpeMeHN
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e tip — OKOHEYHOCTb; BEPXHSS YaCTb
e to utilize [ju:tilaiz] — ncnonb3osatb

Exercises

Exercise 1. Answer the following questions.

1. How was one telephone connected to another telephone in the old days?
2. What did human operators use to make the connections? 3. What was used for
signalling purposes? 4. When did the automation of the switchboard come?
5. What system does today’s telephone system utilize? 6. Why was the electro-
mechanical switching inflexible? 7. How many parts does a switching system in
general consist of? 8. How can calls be connected? 9. What techniques do mod-
ern digital switching systems utilize? 10. What is the method to deal with digital
signals? 11. What is called stored-program control?

Exercise 2. Translate the following definitions and memorize them.

Space switching:  Physically connecting wires to create an electrical
path.

Time switching:  Connecting calls by reordering the time sequence of
digitized samples.

Exercise 3. Complete the following sentences using parts from the right-
hand column. Translate them.

1. Touchtone is also known as their functionality from the basic black,
rotary-dial phones of the past.

2. The telephone receiver is a receives the signal from the central of-
small loudspeaker using fice.
3. Filters are used at the as dual-tone multifrequency dialing.

switching machine at the central
office to detect

4. The leakage current in the a permanent magnet, coil of wire and
secondary receiver circuit depends | metal diaphragm.
on how well a balance network
exactly matches

5. Telephone instruments the impedance of the telephone line.
have progressed greatly in

6. The transmitter sends a the frequencies of the tones and thus
speech decode the dialed digits.

signal down the telephone line,
and the receiver

Exercise 4. Translate these sentences into Russian, paying attention to
the grammar.
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1. Tomorrow he will be informed about it. 2. He will be given a new prob-
lem to solve. 3. Scientific laws are now being viewed as algorithms. 4. New type
of computing equipment is being developed in our research lab. 5. They were
asked to repeat the calculations. 6. A digital control system can be thought of as
an operator who follows a very complicated set of instructions. 7. Connections
can also be made from the new cable via the three carriers’ existing cable net-
works. 8. These instructions should be followed. 9. The results of the tests
should be compared. 10. Then, should a fault develop during a transaction, the
dialog may be restarted at an agreed (earlier) synchronization point. 11. These
things cannot be compared.

Exercise 5. Change the following statements into common questions, pay-
ing attention to modals and their equivalents.

1. The principal service will be to provide remote businesses and customers
with fast access to terrestrial networks. 2. Our representative will be able to pro-
vide a status report within seconds. 3. E-mails and faxes can be sent. 4. There
must be a universally understood language, which must be defined to allow the
agreed transfer language to be negotiated. 5. Complex systems can be con-
structed by interconnecting a large number of simple components.

Text 2
Signalling

A variety of signals are sent over the telephone network to control its opera-
tion, an aspect of POTS known as signalling. The familiar dial tone, busy signal,
and ring-back tone are signals presented to the calling party. Ringing is accom-
plished by a 20-Hz signal that is on for 2 s and off for 4 s. In addition to these
more audible signals that tell us when to dial, whether lines are busy, and when to
answer the telephone, other signals are sent over the telephone network itself to con-
trol its operation.

The telephone network needed to know whether a trunk is idle or not, and
the presence or absence of DC indicated whether a local trunk was in use or idle.
Long-distance trunks used in-band and out-of-band tones to indicate whether a
circuit was idle or not. A single-frequency tone of 2600 Hz, which is within the
voice band, was placed on an idle circuit to indicate its availability. The tele-
phone number was sent as a sequence of two tones at a rate of 10 combinations
per second, a technique known as multifrequency key pulsing (MFKP). Signal-
ling today is accomplished mostly by common channel interoffice signalling
(CCIS).

With common-channel signalling, a separate dedicated data channel is
used solely to carry signalling information in the form of short packets of data.
Common-channel signalling is known as signalling system 7 (SS7). It offers ad-
vanced 800-service such as time of day routing, identification of the calling
party, and various software defined network features. In addition to new features
and services, common-channel signalling offers more efficient assignment of tele-
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phone circuits and operation of the telephone network. Although first used for
long-distance networks, common-channel signalling is being quickly installed
atthe local level.

Signalling has been integrated into a modern telecommunications network,
depicted in Fig. 4 and when coupled with centralized data-bases, provides many of
the features associated with today's intelligent network. The database, known as a
service control point (SCP), contains the information needed to translate 800-
numbers to the appropriate telephone location, among other items. The signalling
information is sent over its own signalling links from one signalling processor
to another, located at nodes called signal transfer points (STP). The signalling
processors determine the actual switching of the customer circuits, performed by
switching systems at service switching points. The bulk traffic carried over trans-
mission media can be switched in times of service failures or to balance loads by
digital cross-connect systems (DCS). The signalling links connect to the local
network at a signalling point of interface (SPI), and the customer circuits connect at
a point of presence. Today's signalling systems add much functionality to the net-
work.

Service control

point (SCP)
Data Signal Transfer
Base Point (STP)
Signalling Link
Jnatiing Signalling Point
of Interface

Signalling Signalling
processor processor

SPI

Transmission Medium
Carrying Bulk Cus-

tomer Traffic
SSP SSP LEC
LATA
Service ‘) .
'> Point Of

Switching Presence

Point @
Local Exchange Carrier j

Local Access & Transport
Area

Digital Cross-connect
System

FIGURE 4. Intelligent Network
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Memorize the following words and word-groups:

assignment — npefjHa3Ha4YeHWe; NPUCBOEHNE

availability — KO3(h(MLMEHT rOTOBHOCTU; FOTOBHOCTb

bulk traffic — maccoBbIi MHDOPMaLMOHHbIN NOTOK

calling party — abOHeHT, KOTOpbII BbI3bIBAET; KOPPECNOHAEHT
common-channel interoffice signalling — curHannsauus otaenbHbIM (06-

LLMM) KaHa/IoM Mexay TeneOHHbIMN CTaHLMAMM

common-channel signalling — curHanusauuns oTaenbHbIM (00LLMM) KaHa/IoM
coupled with — BKNHOYEHHBIN C

day routing — BbI6Op AHEBHOIO Hanpas/ieHNS CBA3N

dedicated data channel — kaHan, npeAHa3HaYeHHbIV 415 Nepeaayn AaHHbIX
to depict — onucbiBaTb, N306paXKaTh

dial-tone — TOHa/IbHbIA CUrHa FOTOBHOCTU; MYL0K

digital cross-connect system — uudgposas KOMMyTaLMOHHas cUCTEMA

failure — Heyfaua; HeflOCTaTOK; OTCYTCTBUE

functionality — (hyHKLMOHa/IbHOCTb, Pab0OTOCMOCOBHOCTb

idle — cBOOGOAHBIN, HE3AHSATHIN

in-band tone — TOHaNbHbIN CUrHa B AMana3oHe (Mosoce)

intelligent — MHTENNEKTYaNbHbIA

item — eAMHULA MH(bOpMaLUK

multifrequency key pulsing (MFKP) — MHOro4yactoTHas KHorno4Has uMny/ib-

caums

node — y3en

out-of-band tone — TOHaNbHbI CUrHaN BHe AMana3oHa (Nnonochbl)
ring-back tone — OTBETHbIV CUTHAN

signalling — nepegava curHanos

single-frequency tone — TOHa/IbHbIM CUrHAN OTAE/TbHON YacTOTbI
service control point — NyHKT 3KCMyaTtayMoHHOr0 KOHTPOA
trunk — marncTpasibHas TMHUSA CBA3N

* * * * *

POTS (Plain Old Telephone service) — TpaaMunoHHas ycnyra TeneoHHON CBS-

3N

DC — (direct current) — NOCTOSHHBIA TOK

Exercises

Exercise 1. Translate the following definitions and memorize them.
Common channel signalling: Uses a separate dedicated path to carry signal-

ling information in the form of short packets of data.
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Point of presence (POP): the point where the connection is made from the
local service provider to the interexchange carrier.

Exercise 2. Answer the following questions:

1. In which way are signals sent? 2. What signals are presented to the call-
ing party? 3. What can you say about the former telephone network? 4. What is
signalling today accomplished by? 5. What is a separate dedicated data channel
used for? 6. What does it offer? 7. Has signalling been integrated into a modern
telecommunications network? 8. How is the signalling information sent?
9. What do signalling processors determine?

Exercise 3. Put questions to the words in bold type.

1. The line has been engaged since 10 o’clock. 2. We have classified these
control operations into four basic categories. 3. These control operations have
been classified into four basic categories. 4. The address of the next instruction
has been found in the program counter. 5. A large engineering department at
Thompson — CSF has now supplied some 90,000 km of microwave links of
varying capacities. 6. Over 14,000 km of troposcatter links have been installed
in Europe, Africa and Latin America.7. Thompson — CSF has built several
thousand centralized supervisory systems. 8. Recent years have seen a growth
in North American interest in using this technology.9. A wide variety of
transmission media have been used in providing telephone service. 10. The
transmission media and systems used for long-distance telephone service have
progressed over the decades.

Exercise 4. Put the Infinitives in brackets in the Present Perfect Tense,
paying attention to the Active or Passive Voice:

1. You (to get) the wrong number. 2. We (to make) a trunk call this eve-
ning. 3. Terrestrial microwave radio (to use) to carry telephone signals from
towers located about 26 mi across the country. 4. He (to receive) the money or-
der at the Post-Office this morning. 5. These standards (to validate) in accor-
dance with these techniques.

Exercise 5. Translate following sentences into Russian.

1. An internet journalist is in doubt whether these Inmarsat Mini-M sat-
phones can take up to 5 minutes to transmit a single image. 2. Whether or no it
Is possible to design such system, | cannot say. 3. Audible signals tell us
whether the line is busy. 4. The network control center isn’t sure whether it can
establish ground communication with all eight new satellites. 5. Manager asked
whether | had sent e-mail massages.
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Unit VII
Text1

Idle Channel Noise

Idle channel noise is the noise when there is no signal applied to the voice
channel, which is different from the quantization distortion caused by the
ADC/DAC process. This noise can be from any circuit element in the channel,
in addition to the PCM codec-filter. Noise may be coupled in from other circuits
including, but not limited to, hybrid transformer interfaces, power supply in-
duced noise, digital circuitry, radio frequency radiation, and resistive noise
sources.

The PCM codec-filter itself has many opportunities to contribute to the idle
channel noise level. The input high-pass filter often is third order, whereas both
the input and the output low-pass filters are typically fifth-order elliptic designs.
The potential for noise generation is proportional to the order of the filter. The
ADC and DAC arrays have many components that are controlled by sequencing
digital circuits. The power supply rejection capability of PCM codec-filters once
dominated the noise level of the channel. The power supply rejection ratio of
these devices has been improved to a level where the device is virtually immune
to power supply noise within the allowable power supply voltage range. This
performance was attained by differential analog circuit designs in combination
with tightly controlled matching between on-chip components.

Noise measurements require a different decibel unit as they usually involve
some bandwidth or filter conditioning. One such unit commonly used (espe-
cially in North America) is decibels above reference noise (dBrn). The reference
noise level is defined as 1 pW or —90 dBm. Telephone measurements typically
refer to dBrnC, which is the noise level measured through a C-message weight-
ing filter (a filter that simulates the frequency response of the human ear’s noise
sensitivity). European systems use a related term called dBmp, which is the dBm
level noise measured through a psophometric filter.

The idle channel noise of the voice channel directly impacts the dynamic
range, which is the ratio of maximum power the channel can handle to this noise
level.

The term dynamic range is similar to signal-to-noise ratio for linear circuits.
The signal-to-noise plus distortion ratio for a companded channel is generally
limited by the nonlinear companding except at very low-signal amplitudes.

Memorize the following words and word-groups:

array — MaccuB; COBOKYMHOCTb
to attain — gocturatb

bandwidth — wvpnHa nonocek! (4acToT)

codec — Kogek (YCTPONCTBO KOAMPOBaHUSA 1 AeKOANPOBaHNSA BUAEOCUTHAOB)
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e companded channel — KaHan, MMeIOLLMIA pPacLUMPEHHbIA ANHAMUYECKUIA ana-
nasoH

companding — KomnagupoBaHue (CUrHaIoB)

conditioning — cornacosaHue

to be coupled — coeanHATLCA; BKIHOYATLCS; ObITb COMPSXKEHHbIM
to dominate — npeo6nagaTb

high-pass filter — hunbTP BLICOKMX YaCTOT

idle channel noise — wym cBo60AHOrO KaHana

to impact — ygapatb(cs)

in (adv.) — yKasblBaeT Ha AIMTENbHOCTb NpoLecca

noise — Lym

psophometric filter — ncopomeTpunyecknii punbTp

rejection — OTK/IOHEHWe

power supply — anekTponutaHue

signal-to-noise ratio — OTHOLLEeHWe curHana K Lwymy

virtually — hakTnyecku

tightly — npoyHo; ocHoBaTtenbHO

weighting filter — yTspxenstowmii unbTtp

whereas — Tora Kak; HeCMOTpS Ha TO, YTO

* * k% * %

ADC (Analog to-Digital Converter) — aHai0roBo-LugpoBoi NnpeobpasoBaresib
DAC (Digital to-Analog Converter) — u1hpo-aHa/iorosblin peobpasoBaTesib

Exercises

Exercise 1. Answer the following questions.

1. What is called idle channel noise? 2. What can this noise be from? 3.
What can you say about the PCM codec-filter? 4. Are the input high-pass filters
third order or fifth-order designs? 5. What level has the power supply rejection
ratio of these devices been improved to? 6. Why do noise measurements require
a different decibel unit? 7. How is the reference noise level defined? 8. What is
the term dynamic range similar to?

Exercise 2. Ask questions to which the following statements may serve as
the answers.

Translate the sentences.

1. The gain through the channel may be different if the amplitude of the
signal is changed. 2. Gain tracking performance is dominated by the I1C fabrica-
tion technology. 3. The telephone ringer is connected in parallel across the tele-
phone line. 4. The public switched network can be used to transmit and switch
any signal that remains within its baseband, namely about 4kHz. 5. When a spe-
cific digit is pushed, a unique combination of two sinusoidal tones is transmitted
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over the line to the central office. 6. With analog multiplexing signals are com-
bined by time-division multiplexing. 7. Many pairs of wire are placed together
in a cable.

Exercise 3. Put in the verbs in the Present Perfect (have done) or Past
Perfect Tense (had done)

Example: The match is over. We have won.

My uncle had no car at that time. He had sold his old one.

1. I spoke to Nick at lunch time. Someone (tell) him the news earlier. 2. It
was six o’clock. All the shops (close). 3. The rain began after we (come) from
the Academy. 4. | am waiting for my brother. | (not see) him since spring. 5. It
Isn’t raining now. It just (stop). 6. They (leave) the city before the war began.
7.You can have the article. I (finish) with it. 8. At last the committee were ready
to announce their decision. They (make up) already their minds.

Exercise 4. Write the two sentences as one. Use when and the Past Perfect
Tense in either the first or the second part of the sentence.

Example: He gave the book to me. He read it.

He gave the book to me when he had read it.

1. | passed all my exams well. | invited my friends to my party. 2. The stu-
dents did the experiment in physics. They wrote a report on it. 3. The manager
signed the letter. He typed it on his word processor. 4. We completed the forms.
We handed them in. 5. | went to bed. | switched off TV. 6. He wrote an urgent
message. He sent it via modem.

Text 2

Linear PCM Codec-Filter for High-Speed Modem Applications

The original PCM codec-filters were developed to facilitate the digital
switching of voice signals in the central office of the PSTN. The signal process-
ing in the digital domain consisted of simply moving digitized samples of voice
from one time slot to another to accomplish the switching function. As such the
A/D and D/A conversion processes could be nonlinear, and companding was
employed.

With the advent of the personal computer, the facsimile machine, and most
recently the Internet, the need to transmit data originating at the subscriber over
the PSTN at the highest possible rates has grown to the point where the theoreti-
cal limits as defined by Shannon’s law are being approached. For data transmis-
sion the signal processing is in a sense the inverse of that which spawned the
original PCM codecs in that the initial signal is data that must be modulated to
look like a voice signal in order to be transmitted over the PSTN. At data rates
above 2400 b/s the modulation is done using sophisticated digital signal process-
ing techniques, which have resulted in a whole new class of linear PCM codec-
filters being developed.

Codec-filters for modems must be highly linear with a signal to distortion
much greater than 30 dB. This linearity and signal to distortion is required to
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implement the echo cancellation function with sufficient precision to resolve the
voltages corresponding to the data points in the dense constellations of high-
speed data modems.

Sigma-delta conversion technology is based on coarsely sampling a signal
at a high rate and filtering the resulting noise. The transmit and receive signal
paths are the inverse of each other.

The second-order modulators basically consist of two integrators and a
comparator with two feedback loops.

Memorize the following words and word-groups:

e advent — npuxop

e to approach — noAxoauTb; NPUBAMXKATLCA

e codec — Kogek (YCTPOMCTBO KOAMPOBaHUA U [AeKOAMPOBaHWUA BUAEOCUTHA-
NoB)

comparator — Komrnaparop

dense constellation — n10THasa COBOKYMHOCTb

distortion — nckaxxeHue

domain — 06/51aCTb; JOMEH

echo cancellation — raweHve axo-curHana

feedback loop — umkn obpaTtHol cBSA3N

integrator — MHTerparop

the inverse of — NPOTNBOMONOXHOCTb

sigma-delta — genbta curma (A S nnm C)

to spawn — 6bITb NepPenoIHEHHbIM; SBNATLCA CPEA0TOUMEM Yero-nnbo
sufficient — pocTaTouHbIN

time slot — MHTepBan BpeMeHW; NPOMEXYTOK BPEMEHW

* * * * *

PCM (Pulse Code Modulation) — kofo-umMmnynbcHas MoAynAuns
PSTN (Public Switched Telephone Network) — kommyTupoBaHHas Tene)oHHas
CeTb 06LEro nosib30BaHUs

Exercises

Exercise 1. Answer the following questions.

1. What did the original PCM codec-filters deal with? 2. What did the sig-
nal processing in digital domain consist of? 3. When has the need to transmit
data over the PSTN grown? 4. How is the modulation done at data rates above
2400 b/s? 5. Why is this linearity and signal to distortion required? 6. What is
sigma-delta conversion technology based on? 7. What do the second-order
modulators basically consist of?
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Exercise 2. Give the Infinitive of each of these Past Participles:
developed, employed, grown, approached, used, done, defined.

Exercise 3. Translate the following sentences into Russian paying atten-
tion to the grammar.

1. She entered the Academy in order to become a specialist in engineering.
2. | took out the key in order to open the door. 3. We hurried in order to get back
in time. 4. I’ll look through these articles in order to discover the key to the
problem. 5. In order to raise this point | have taken part in the discussion. 6. He
has written the formula from the text-book in order to show it to me. 7. In order
to reduce its size we used new technologies.

Exercise 4. Make the following sentences interrogative:

1. We have been looking for this address all the afternoon. 2. | have been
working on this model engine for two weeks. 3. My brother has been writing let-
ters for an hour. 4. | have been watching television since 2 o’clock. 5. Radio ffn
has also been using the Inmarsat-A HSD equipment for outside broadcast work.
6. This increase in data requirement has been driving our market direction for
six months. 7. He has been working on his program since morning.

Exercise 5. Translate the sentences paying attention to Gerund with
prepositions.

1. By repeating the experiment you can get additional results. 2. Control
unit is used for interpreting the machine instructions. 3. In describing most
physical processes one can use mathematical equations. 4. In training specialists
practice is as important as theory. 5. In modern computers transistors are used
for performing complicated operations. 6. It would be impossible to offer a fully
global service without using satellites.
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Unit VIII
Text 1

Telecommunications Network Synchronization

Today's telecommunications network comprises customer premises equip-
ment and telephone central offices interconnected by suitable transmission fa-
cilities. Although analog technology still exists in the customer loop, digital
time-division multiplex (TDM) technology is more prevalent in the central of-
fice switching and transmission systems.

A digital switch located within the interoffice network terminates TDM
signals originating from many other offices. It performs a combination of time-
slot interchange and space switching to accomplish the interconnect function
amongst the individual channels of the multiplexed signals. In order to accom-
plish this function without impairments, the average rates of all of the TDM sig-
nals terminating on the switch have to be synchronized to within some achiev-
able bound. Furthermore, the reference clock of the switch itself must also be
synchronized to the common rate of the incoming signals. These synchroniza-
tion requirements are also applicable to a digital cross-connect system since it
realizes the channel interconnection function in a similar manner.

Synchronous multiplexers, such as synchronous optical network (SONET)
and synchronous digital hierarchy (SDH) terminals, used in fiber optic systems,
generate the high-speed output signal by interleaving the time slots of the lower
speed input signals. Again, to accomplish this function properly, the rates of the
incoming lines and that of the multiplexer clock have to be synchronized. Pri-
mary rate multiplexers (known as channel banks) also employ synchronous time
interleaving of the 64-kb/s tributary signals, often generated by other network
elements (digital switches and signalling transfer points, for example) within the
same office. For unimpaired information transfer in this case, the network ele-
ments that terminate these 64-kb/s signals have to be synchronized in both fre-
quency and phase (bit and byte synchronization!).

Network synchronization is the background technology that enables the op-
erating clocks of the various network elements throughout the network to be
synchronized. Robust and accurate synchronization networks are essential to the
proper functioning of these elements and the reliable transfer of information be-
tween them. The growth of data services and the deployment of SONET and
SDH transmission equipment has further emphasized the need for such net-
works.

Memorize the following words and word —groups:
e accurate — TOYHbIW, NPaBU/bHbIN

e amongst — cpeaun, Mexxay
e bound - npegen
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e channel bank — rpynna kaHanos; annapaTypa My/nbTUM1EKCMPOBaHUA

e  Cross-connect system — cucrtema C nepekpecTHbIM COeanHUTENEM (COEAUHN-
Te/lbHbIM 3BEHOM)

e customer loop — aboHeHTCKas IMHNA (ABYXMNPOBOAHASA)

e customer premises equipment — annapaTypa, YCTaHOB/IEHHAsA B NOMELLEHUM
rnosib3oBaresns

e digital hierarchy terminal — UM(HPOBOI NepPaPXUYHbIA TEPMUHAN

e digital time-division multiplex technology — unudposas MynbTMMNEKCHasA
TEXHO/IOTUS C BPEMEHHbIM pa3fe/ieHeM KaHa/10B

e to emphasize — noa4YepkunBaTh, NpuaaBaTb 0CO60e 3HaYeHUEe

e impairment — ocnabneHne; UCKaxeHme

e interleaving — paccnaviBaHue; ynioTHeHWE UMMNY/bCHLIX CUTHAMIOB; Yepeso-
BaHwue

originating — Ha4a/ibHbIN

prevalent — pacnpocTpaHeHHbI

reference clock — 3TaflOHHbIN TaKTOBbLIW reHepaTop

robust — TpyAHbIN; rpyoblii

to terminate — corsiacoBbiBaTh TEpMUHa/IbHOE 060pY0BaHKE

tributary signal — NOAYMHEHHbIA cUrHan

Exercises

Exercise 1. Answer the following questions.

1. What does today’s telecommunications network comprise? 2. What tech-
nology is more prevalent in the central office switching and transmission sys-
tems? 3. What does a digital switch perform? 4. Why do the average rates of all
the TDM signals have to be synchronized to? 5. Are these synchronization re-
quirements also applicable to a digital cross-connect system? 6. How do syn-
chronous multiplexers generate the high-speed output signal? 7. What is net-
work synchronization? 8. What has emphasized the need for such networks?

Exercise 2. Define the function of to be in the following sentences, trans-
late them.

1. The goal of synchronization distribution network is to provide reference
clocks. 2. A small amount of side tone is desirable because it makes the tele-
phone seem live and natural. 3. One method of achieving synchronization in the
interoffice network is to designate a single primary reference source as a master
clock for the entire network. 4. This strategy is expensive to implement now.
5. A wide variety of intelligent features was easily available when humans oper-
ated the telephone network and its switchboards. 6. All of these services are
wanted by all telephone users. 7. A combination of the two techniques is typi-
cally employed in practice. 8. A hierarchy multiplexing was created with 12
baseband channels forming a group. 9. Thus, devices other than just a telephone
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can be used on the telephone network. 10 Communication satellites located in
orbit 22,300 mi above the Earth’s equator have been used to carry telephone
signals. 11. Human operators were replaced by automated electromechanical
switching systems.

Exercise 3. Make the following sentences interrogative (Present Indefi-
nite)

1. A two-wire local loop connects the telephone instrument to the central
office. 2. Microwave radio also carries telephone calls across oceans and conti-
nents by communication satellites. 3. Geosynchronous communication satellites
suffer a serious shortcoming. 4. Technological advances include colour multi-
plexing in which a number of light signals at different frequencies are carried on
the same fiber strand. 5. Long-distance transmission systems and local carrier
systems all utilize separate paths for each direction of transmission. 6. The tele-
phone network carries not only voice signals but also facsimile and data signals.
7. However some people consider their telephone number to be very private and
personal and also do not want it transmitted to others.

Exercise 4. Give degrees of comparison of the following adjectives:

wide, synchronous, many, thick, good, large, suitable, common, numerous,
considerable, bad, early, reliable, essential, various, little, small.

Text 2

Characterization of Synchronization Impairments

The synchronization performance of a telecommunications signal is typi-
cally determined from measured values of the deviations in time between when
the signal transitions actually occur and when they are ideally expected. The
master clock that provides the ideal time positions should be significantly more
accurate than the signal under test. The measurement yields the raw phase error
signal, also known as the time delay or simply phase, in units of time as a func-
tion of elapsed time. Postprocessing of this raw data is, however, necessary to
extract useful parameters that help define the underlying synchronization im-
pairment model.

The current synchronization impairment model used for the telecommuni-
cations signal is based mainly on the source of the impairments. It refers to the
higher frequency components of the phase (error) oscillations as jitter and to the
lower frequency components as wander, with 10 Hz being the demarcation fre-
quency. Jitter is produced mainly by regenerative repeaters and asynchronous
multiplexers, and normal levels of it can readily be buffered and filtered out.
However, excessive jitter is a potential source of bit errors in the digital net-
work. Wander, on the other hand, has many causes. These include temperature
cycling effects in cables, waiting time effects in asynchronous multiplexers, and
the effects of frequency and phase quantization in slave clocks which employ
narrowband filters in their servocontrol loops. Since it contains very low-
frequency components, wander cannot be completely filtered out, and hence is
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passed on. Excessive wander adversely affects the slip performance of the net-
work and can also lead to an unacceptable rate of pointer adjustments in SONET
and SDH multiplexers. Furthermore, wander on an input reference signal com-
promises the holdover performance of a slave clock during reference interrup-
tions.

Although jitter and wander are adequate descriptors of synchronization im-
pairments in the existing digital network, a more comprehensive model is neces-
sary to characterize the phase variations caused by the newly introduced SONET
and SDH equipment, and to appropriately specify the limits on timing noise at
network interfaces. Recently, there is renewed interest to adapt the traditional
noise model used with precision oscillators and clocks in time and frequency
metrology to the telecommunications applications.

Maximum time interval error (MTIE) and time variance (TVAR) are two
parameters for specifying the synchronization performance of telecommunica-
tions signals that are defined to capture the essential features of the traditional
model. MTIE is effective in characterizing peak-to-peak phase movements,
which are primarily due to systematic components, whereas TVAR is useful in
characterizing the stochastic power-law noise components of the phase noise.

Memorize the following words and word-groups:

adversely — HebnaronpusaTHO

buffer — 6yep, pasgenntensHblin (6ythepHbIin) Kackaj

to capture — 3axBaTnTb

demarcation frequency — pasrpaHu4nTe/ibHas YacToTa
deviation — OTK/I0HEHNe

to filter out — oTmbTPOBATH

holdover — pe3epBHbIi

jitter — nCKaxXxeHWe CUrHana, UCKaXKeHne cTpoyek (B PakCUMUNBLHON CBA3W)
master clock — TaKkTOBbI reHepaTop

on the other hand — ¢ gpyroii CTOpoOHbl

to pass on — nepesfaBsaTb

peak-to-peak phase — paza nosHoro pasmaxa

raw data — HeobpaboTaHHble JaHHble

reference interruption — npepbiBaHKe OMOPHOIO CUTHaNA
servocontrol loop — MHKUS ¢ aBTOMaTUYECKMUM YrpaB/ieHNEM
slave clock — BTOpUYHbIN reHepaTop

slip performance — ckonb3sLWNIA XapakTep

synchronization impairment — ocnabneHve CUHXPOHM3aLNN
synchronization performance — a)eKTMBHOCTb CUHXPOHM3AL MK
time variance — 3MeHeHue BpeMeHM

transition — nepexop

wander — 6/1y>kgaHue
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Exercises

Exercisel. Answer the following questions.

1. How is the synchronization performance typically determined? 2. What does
the master clock provide? 3. What is the current synchronization impairment
model based on? 4. Is jitter produced by regenerative repeaters and asynchro-
nous multiplexers? 5. What do slave clocks employ? 6. What are two parameters
for specifying the synchronization performance of telecommunications signals?

Exercise2. Put the Infinitive in brackets in the Past Indefinite Tense pay-
ing attention to the Passive or Active Voice. Translate the sentences.

1. AT & T (to replace) all its analog multiplexing in the late 1980 s. 2. Ana-
log multiplexing (to accomplish) by A-type channel banks. 3. Each baseband
telephone channel (to shift) in frequency to its own unique 4 kHz channel.
4. These networks (to design) originally to guarantee satisfactory slip perform-
ance for end-to-end connection. 5. The path redundancy (to provide) by dual
feeds. 6. The telephone receiver (to invent) in 1876 by Thomas Watson. 7. Mi-
crowave radio (to carry) telephone calls terrestrially from microwave tower to
tower across the country. 8. Thomas Watson (to apply) for the first ringer patent
in 1978. 9. The high-impedance ringer (to invent) in 1890 by John J. Carty.

Exercise 3. Complete the sentences using Present Continuous or Present
Simple. Put in the verbs on the right

1. Normally we work at nine o’clock, but 1. start
we at eight this week because we are very start
busy just now.
2. Usually he two newspapers, but not the same 2. read
ones every day. On Sundays he three or four. buy
3.1 letters and telegrams now. A 3. Look through
telegraph boy usually them at this time every day. deliver
4. A computer a sequence of reasonable operations. 4. Perform
I a program for the computer at this moment. Compile
5. My friend the blank. He silly 5. Fill in
mistakes too often. make
6. The new systems the boundaries of the 6. Extend

Inmarsat options now.

Exercise 4. Insert the prepositions.

1. The development of digital switching exchanges and cross — connect
equipment in telecommunications systems created the necessity ... robust syn-
chronization distribution networks. 2. As newer transport technologies such as
asynchronous transfer mode are introduced, the distribution ... accurate syn-
chronization references will be more complicated. 3. Path redundancy is
achieved ... providing primary and secondary reference sources at the slave
clocks. 4. The output reference timing signals are generated using the data ac-
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quired ... the normal (synchronized) mode. 5. Personal satellite communications
traffic is on the increase, as small low-cost easy-to-use hardware comes on ...the
market. 6. Data is written ... the small capacity (8-16 bytes) receive buffer in the
pointer processor ... the rate of the incoming line.

Keys: into, at, for, during, of, to, by.
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Unit I X
Text1

Private Branch Exchanges

The Private Branch Exchange (PBX) is a smaller version of the switching
system (or switch) found at the telephone company’s Central Office. Interna-
tional terminology differentiates between attendant-operated switches and auto-
matic systems, where switching of internal calls (at least) is accomplished auto-
matically in response to the dialed digits. The former is a Private Manual Branch
Exchange (PMBX), the latter a Private Automatic Branch Exchange (PABX).
Since virtually all systems sold today are PABXs, the term PBX is equivalent.

The PBX is located on the premises of the customer, and serves anywhere
from 50 to thousands of lines. It mimics the functionality of the central office
switch in that it provides dialtone to users, and connects calls to other users lo-
cated on the customer’s premises, or to the public-switched telephone network.
Calls being placed to subscribers outside the PBX must be proceeded by a spe-
cial access code, traditionally 9, for a nontoll outside line.

A PBX has its own numbering plan, normally with three- to five-digit sta-
tion numbers. Each telephone served by the PBX has an individual extension
number, and can be directly dialed from any other phone served by the PBX.
Outside calls coming into the PBX from the local exchange are answered by a
PBX operator and transferred (extended) to the desired station (extension).
Many recent PBXs substitute an automated attendant for the traditional operator;
these are not yet well received by the public.

Direct Inward Dialing (DID) allows calls coming in from the local ex-
change over special DID trunks to be connected directly to an extension without
intervention by an operator or auto-attendant. Callers dial a standard seven-digit
phone number corresponding to the particular PBX and extension number. Ob-
viously, DID requires a signalling arrangement between the CO and the PBX for
transferring the inbound number. It also requires that all of the numbers reach-
able by DID be unique in the exchange numbering scheme. Thus, a company
with 1000 PBX stations would only require one telephone number from the out-
side, provided the incoming calls were extended by an attendant (automated or
manual). With DID, the same company would require 1000 telephone numbers.
The convenience of DID comes at a price; available numbers are used up at a
faster rate, resulting in more frequent need for new area codes.

A modern PBX is similar to its larger cousin at the telephone company cen-
tral office in that it is a digital switch complete with central control, program and
call store, line and trunk interfaces, and many of the same features. Various op-
tions, such as dual-central control, backup power, and custom calling features,
are available. Diagnostic software continuously monitors the PBX and reports
problems to the attendant or service personnel. The PBX differs from a CO
switch primarily in its capacity to serve lines and process calls. A PBX typically
serves fewer than a thousand stations and can process between 50,000 and
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100,000 busy hour call attempts, whereas a modern digital central office switch
will serve between 20,000 and 80,000 lines with over a million busy hour call
attempts. It is important to note that some very large PBX installations that serve
tens of thousands of stations are actually CO switches.

Memorize the following words and word-groups:

e attendant-operated switch — 06CNy>KMBaIOLMIA KOMMYTATOP C YCTaHOB/IEHW-
eMm CBA3N

extension number — JONOHUTENBbHBIA HOMEP

inbound — npnbbIBatOLWNIA, BXOAALLMIA

intervention [inty(:)‘venyn] — BMeLlaTensCTBO, y4acTue

inward [‘inwyd] dialing — aBTOMaTN4eCKOe BHYTPeHHee HabupaHue Homepa
manual — py4Hol

to mimic — noAgenbIBaTh, UMUTMPOBATD

nontoll — 6e3 AONOMHWUTENBLHOI NNaThl

premises (pl.) — nomeLleHNs

private branch exchange — BejoMcTBeHHas (BHYTPEHHSAS) Tene(hOHHas CTaH-
LMSA C BHELULHUMUW NIMHUSMU CBA3N

e reachable — pocsaraemblii

e service personnel — 06Cny>XKMBaKOLLMIA NEPCOHaN

* * * * *

CO (Central Office) — LieHTpanbHas Tened)oHHas cTaHUms

Exercises

Exercise 1. Answer the following questions.

1. What is the Private Branch Exchange? 2. How does international tech-
nology differentiate? 3. Where is the PBX located? 4. What must calls being
placed to subscribers outside the PBX be proceeded by? 5. What numbering
plan has a PBX? 6. What does Direct Inward Dialing allow? 7. What’s the dif-
ference between the PBX and the CO?

Exercise 2. Analyze the functions of ing-forms. Translate the sentences
into Russian.

1. These systems operate by routing all lines to each telephone instrument,
where the user selects the line desired by pressing a button. 2. The cadence of
both the ringing tone and the flash were used to differentiate an internal call
from an outside call. 3. Feature telephones are multiple key sets that have pro-
grammable buttons for accessing features such as paging, call transfer, speed di-
aling, automatic redial of busy numbers, and hands-free calling. 4. The basic
idea of guiding light through thin glass fibers is quite old. 5. Today’s transmis-
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sion medium of choice is optical fiber utilizing digital, time-division multiplex-
ing of the voice circuits.6. This device includes both antialiasing and reconstruc-
tion switched capacitor filters. 7. Multiplexing is the means by which a number
of communication signals are combined together to share a single communica-
tion medium. 8. The number is encoded as digital data and sent in a short burst,
using phase shift keying, during the interval between the first and second ringing
signal.

Exercise 3. Give degrees of comparison of the following adjectives:

Numerous, expressive, good, small, automatic, various, similar, little, avail-
able, modern, far, important, thin.

Exercise 4. Analyze the following complex sentences, translate them.

1. In this way the system operates much the same as a modern electronic
key system, except that there is no need for a separate Key Service Unit. 2. Hy-
brid key systems are systems that in some ways resemble a Private Branch Ex-
change. 3. The time required for the radio signals to travel back and forth be-
tween and satellite and the Earth stations creates a round-trip delay of about
0.5s, which is quite annoying to most people. 4. British Telecom is one of the
few service providers that can truly lay claim to a total end-to-end global net-
work. 5. The man whom | got the information from is the logistics director of
the Company. 6. From the satellite calls are beamed to land-earth stations that
act as gateways to the world’s terrestrial telecommunication networks. 7. You
can dial and connect to any telephone on Earth from Mini-M terminal, wherever
you are. 8. A MiniSat terminal is being used by journalists who have to travel
regularly into remote areas outside the convectional cellular coverage.

Exercise 5. Put the Infinitives in brackets in the Present Indefinite Tense
(active):

1. Using the Inmarsat network, the Planet phone (to provide) a truly global
mobile connection for voice, fax and data communication. 2. Slips (to occur) in-
frequently when there are no synchronization disruptions. 3. There (to be) two
main methods of multiplexing: time-division multiplexing and frequency-
division multiplexing. 4. They (to deliver) easy-to-use, economical services to
businesses around the world. 5. Communication capabilities (to include) a built-
in 10 Mbps Ethernet link and an infra-red connection. 6. The chief executive of
the Company (to say) the system will be operational soon.

Text 2

Centrex
Centrex is a service provided by the local exchange carrier that mimics the
functionality of a key system or PBX with station lines provisioned from the
telephone company’s central office switch. This is done through software that,
in essence, partitions the CO switch to give each Centrex customer their own
virtual PBX or key system. With a Centrex arrangement each extension is con-
nected directly to the CO switch. The Centrex customer has a numbering plan
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similar to that of a PBX, and places calls to other extensions within the Centrex
group exactly as a PBX user would. Calls from outside the Centrex group are
handled as calls coming into a DID-equipped PBX in that a caller dials a seven-
digit number to reach a Centrex group subscriber. Even though the users are
served directly by the central office, an access code (such as 9) must be dialed
for an outside line, further mimicking the functionality of a PBX. Thus, the Cen-
trex user sees a system that provides service that is indistinguishable from that
provided by a PBX.

CPE for Centrex service is virtually identical in functionality and appear-
ance to that for PBX applications, although the signalling is often quite different.
Centrex CPE can range from simple single-line analog telephones to ISDN sets.
Such CPE is in some cases proprietary to the vendor of the central office switch
that is providing the service, and is normally leased to the customer by the local
exchange carrier as a part of the Centrex service contract.

Advantages of Centrex include reliability that is virtually the same as that
of the central office, (which is normally less than 2 hours of total unavailability
over 40 years ), software that is always up to date (assuming that the CO soft-
ware is up to date), and virtually unlimited call-handling capacity. Additionally,
the customer does not have to provide floor space, power, or cooling for KSUs
or PBX cabinets, nor is maintenance of any of this equipment required. Since it
is provisioned from the CO, a Centrex system can span multiple locations within
an exchange. Disadvantages include high cost and lack of control. Centrex is
priced on a per-line, per-month basis based under contract with the local ex-
change carrier, whereas a PBX that is purchased has a fixed cost based on the
purchase price of the hardware and installation. Also, some electronic PBX sets
can only be used within a few thousand cable feet of the CO. An additional dis-
advantage is reliance on the telephone company for additions or changes to the
service.

Memorize the following words and word — groups:

appearance — BHELLHWI BU[,

indistinguishable — Hepa3iMuMMBbIit

In essence [ ‘esns ] — B CYLHOCTK

to lease — apeHf0BaTb, BblAeNSATh

local exchange carrier —npeanpustTMe mecTHoi cBsisn (B CLLIA)
to partition — pasgenstb, f4eNnTb

proprietary — cOCTaBNAOLLMIA YbtO- MO0 COOBCTBEHHOCTb, NAaTEHTOBAHHbIA
to provision — obecrneunsaTb

reliance — yBepeHHOCTb

to span — 3anonHATb, NepeKpbIBaTb

vendor — nocTaBLLMK
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CPE (Customer Premises Equipment) — annapartypa, YCTaHOB/IeHHasd B
MOMeLLEeHWI M0/b30BaTess.

ISDN (Integrated Services Digital Network) - uwuppoBas ceTb
WHTErpupPOBaHHbIX YCIYT.

KSU (Key Service Unit) — ycTpoiCTBO CBA3W C KNaBUaTypoil.

Exercises

Exercise 1. Ask your own problem questions to the text.
Exercise 2. Choose the proper verb form and translate the sentences.

1. The solution to this problem ...... the development of electronic simu-
lated key systems that operated in conjunction with the PBX software. 2. Major
enhancements to digital PBXs .... automatic call distribution, voice mail

.3.These capabilities .... use of an auxiliary processors. 4. Most current PBX
systems ... the capability for remote diagnosis and setup. 5. This allows ad-
vanced support or administration from a remote site without ... a technician to
the PBX location. 6. Connection ....by analog twisted pair copper or direct digi-
tal carrier interface.

Keys : include , may be, was, provide , having to send , may require .

Exercise 3. Speak about the advantages of Centrex. Use the words given
below:

local exchange carrier; connected directly to; reliability; to span multiple
locations within an exchange; virtually unlimited call - handling capacity.

Exercise 4. Translate the sentences paying special attention to Present
Indefinite Tense (Passive).

1. The program is loaded on one of the two PCs which are then connected
by cable, over a local area network. 2. Interest is calculated according to the av-
erage interest rate and the average outstanding capital. 3. Users are also provided
with a choice of practical information from the program’s man menu. 4. This
information is collected and transferred by phone line, radio or satellite link.
5. All the firms are involved in the final stage of the project, introducing elec-
tronic data interchange to their operators. 6. Security is enhanced by Secure
Terminal Unit encryption, achieved through a hardware upgrade and built-in
software. 7. Only the differences are matched thereby minimising the amount of
data transferred. 8. Incoming or outgoing messages are displayed on the same
screen. 9. A computer program is designed for easy operation, with on-line help
and pull-down menus and tables.

Exercise 5. Make the following sentences interrogative paying attention
to modal verbs with the Infinitive Passive:

1. Simulation modelling must readily be used with the powerful PCs of to-
day. 2. All costs including communication tariffs, terrestrial links (e.g. telex,
modem or datanet lines), and software can be stored in the program*s databases
for instant retrieval as required. 3. Data terminal support may be provided by
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digital telephone sets or data terminals. 4. Access to distance education and the
internet can be offered by this new Telstra service. 5. Satcom-M and Satcom-B
can be accessed around the world by simply selecting the access code «222x». 6.
| want a screen that can be seen not just by me but one or two people looking on
from either side.

Text 3

Voice Processing

Customer Premises Equipment that combines computing and communica-
tions to manage voice calls automatically are known as voice processing sys-
tems. These include three classes of equipment comprising voice processing:
voice mail, automated attendant, interactive voice response.

A voice mail system stores messages in digital form on some type of com-
puter memory. These may be stand-alone systems (often utilizing a personal
computer for processing and message storage), which can be connected directly
to the central office. Integrated voice mail systems are combined with a PBX for
greater functionality, provided the PBX is designed for integration of external
peripherals. Voice mail systems are sized by number of simultaneous callers
(ports) and hours of storage.

The automated attendant is the most misused and maligned of the voice
processing technologies. The system answers the telephone and offers the caller
a menu of choices such as “dial 1 for sales, 2 for service, 3 for engineering”. A
properly designed system can save time for callers.

Interactive voice response (IVR) or audiotex systems prompt the user to en-
ter information such as an account number via DTMF dialing. This information
is passed to a host computer for processing and a voice synthesizer reads the in-
formation back to the caller. Banks and credit unions use IVVR technology to en-
able customers to obtain their account balances without waiting for an agent.

Recent voice processing systems combine all three technologies. For exam-
ple, a customer-service system may offer a menu of choices from an automated
attendant, ask the caller to enter his or her customer number using IVR, and al-
low the caller to leave a message for a support specialist on voice mail.

Memorize the following words and word-groups:

to malign [ma’lain] — 3710cN0BUTL

to misuse [’mis’ju:z] — HenpaBU/IbHO YNOTPe6NATL

peripheral — BHelLHee YCTPOICTBO; NepudepunitHoe YCTPOINCTBO
to promt — noby>aaTb

simultaneous — 0iHOBPEMEHHbI

storage — namsTb

VOIiCe response — rosiocoBoi 0TeBeT (OTK/NK)
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DTMF (Dual Tone Multifrequency) dialing — HabupaHue Homepa ¢ MHOrO-
4aCTOTHOWN CUrHanM3aLnei

Exercises

Exercise 1. Answer the following questions:

1. What does Customer Premises Equipment combine computing and
communications for? 2. What are known as voice processing systems? 3. How
does a voice mail store messages? 4. What are integrated voice mail systems
combined with? 5. What is the function of the automated attendant? 6. What
does Interactive VVoice Response deal with? 7. Do recent voice processing sys-
tems combine all three technologies?

Exercise 2. Find in the text 3 sentences containing Present Indefinite
Passive.

Exercise 3. Translate these sentences into Russian paying attention to
Future Indefinite Passive:

1. Greater innovation will be seen in the way in which existing data ser-
vices are offered. 2. More accurate forms of location positioning will be adopted
in the future. 3. Frequently used messages will be coded for automatic transmis-
sion at less cost. 4. This satellite will be moved to a new orbital location at 11.5
degrees east. 5. The new joint venture will be called Rydex Marine Technolo-
gies.

Exercise 4. Outline the main ideas of the text and write an abstract.
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Unit X
Text 1

Analog Telephone Instruments

The most common CPE found in any country is telephone. Equipped with
a rotary dial or dual tone multifrequency (DTMF) keypad for signalling, a
transmitter, and receiver, it is present in almost every home or office in most
countries. It is used for placing voice calls over a single line to any other tele-
phone in most of the world. The analog telephone set is the embodiment of plain
old telephone service (POTS).

Customers would define the functionality of such a unit in terms of how it
operated in the normal scenario of placing or receiving a telephone call. The
telephone has a handset (usually with integrated speaker and microphone), an
alerting device (ringer), a signalling device (rotary dial or keypad), and the
switch hook (contained in the handset cradle in this instance). Other capabilities
include automatic loop compensation, hybrid functions, and the ever present line
powering.

The ringer is bridged across the loop to the CO when the handset is in the
cradle; picking up the handset disconnects the ringer and connects the hybrid
across the line. The hybrid divides the two-way conversation signals on the loop
into two one-way paths: one from the CO to the receiver, the other from the
transmitter to the CO. A small portion of the transmitted energy is fed back into
the receiver; this function is called side tone, and allows the speaker to hear
what they are saying.

Alerting devices include the traditional electromechanical ringer (mechani-
cally and electrically tuned to the ringing frequency) or loudspeakers, which
sound a ringing tone. Loop compensation is a circuit that automatically adjusts
to the loop resistance; this replaces the older manual compensation, which had
to be adjusted at installation.

Line powering means that the telephone set is powered by battery from the
CO over the copper local loop. It is a feature that has existed since the telephone
was invented.

Memorize the following words and word — groups:

e to adjust — HacTpamBaThb

e to bridge — cornacoBarb; NepemMKHYTb; 3aMblKaTb

e cradle — TefledhOHHbIN pblyar (KOHTaKTbl, aKTUBUPYEMbIE TeNeOHHON Tpyob-
KOi1)

e dial — HOMepHOW AWCK; AMCKOBBIA HOMEpOHabupartesb

e dual tone multifrequency — HabmpaHne HoMepa C MHOrO4acTOTHOWN CUTHA/IN-
3aumel

e embodiment — 06benHEHNE, CIMAHWE, MHTerpaLms



D
SN

Introduction to communication system

keypad — KnaBULLIHbIA HOMepOHabupaTesb

line powering — nuTatoLLas NMMHUA (MPOBOA)

loop — AByxnpoBoAHasA NMHUS

to pick up — CHATb CUrHan, BbIAENATb

plain old telephone service — TpaguUMoHHas ycnyra TeneoHHOM CBS3N
ringer — 3BOHOK (TeNeqOHHbIN)

scenario — cLueHapuii

side tone — N0604YHas TOHa/IbHOCTb

switch hook — TeneoHHbIN pblyar

Exercises

Exercise 1. Answer the following questions.

1. What is the most common Customer Premises Equipment (CPE) found
in any country? 2. How is a telephone instrument equipped? 3. What is the em-
bodiment of plain old telephone service? 4. What is integrated in a handset?
5. In which way is the ringer bridged to the CO? 6. What divides the two-way
conversation signals on the loop into two one-way paths? 7. What do alerting
devices include? 8. How is the telephone set powered?

Exercise 2. Ask questions to which the following statements may serve as
the answers. Translate the sentences.

1. The required protective circuitry is often provided by readily available
integrated circuit devices. 2. The testing, certification, and documentation re-
quirements may be met through the use of commercial laboratories that special-
ize in such services. 3. A key telephone system may be connected directly to in-
coming calls. 4. In general, no modifications may be made, and all repairs must
be performed by certified technicians using original equipment parts. 5. Deci-
sions might not have to be changed to satisfy registration requirements. 6. Thus,
it is seen that customer premises equipment may be classified by function as
well as by type. 7. Voice is digitally encoded before it leaves the set. 8. Inte-
grated circuit devices are placed inside the equipment and connected directly
behind the network interface.

Exercise 3. Translate the following sentences into Russian paying atten-
tion to different functions of the infinitive.

1. There is nothing to be said for all those crackles and hisses, that one
used to get during live radio broadcast. 2. Compaq has introduced its first hand-
held PCs to be aimed at the professional market. 3. Most customers do not want
to be seen while speaking on the phone. 4. To be the first with the news, journal-
ists are seeking ever faster means of communicating the news. 5. Users view the
files available and select those to be duplicated. 6. Spot beams allow satellite
power to be concentrated in areas of heaviest demand. 7. The older manual
compensation had to be adjusted at installation. 8. There are many things to be
done.
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Text 2

Integrated Services Digital Network Modems and Interface Cards

The term ISDN modem is a misnomer. Because no modulation or demodu-
lation takes place, an ISDN modem is not actually a modem at all. Sometimes
called a digital modem, these devices are Terminal Adapters with a built in NT-
1. Such modems also include a POTS telephone jack so an analog telephone
may be used to place a call using one of the B channels. It is a bidirectional in-
terface that takes asynchronous data from a computer or terminal through a
standard serial interface and performs the appropriate conversion necessary to
produce a properly formatted synchronous ISDN channel. It is called a modem
because of the appearance and operational similarity it has with the familiar
computer modem. Personal computers equipped with these cards are ISDN
compatible and do not require an external Terminal Adapter.

It is important to note that although conventional modems are available for
use at a variety of different speeds over analog lines of various quality, an BRI
ISDN modem operates at 128 kb/s, which is the data rate for 2 ISDN B chan-
nels, or 64 kb/s if a voice call is being placed at the same time on the same
ISDN line. The term ISDN modem has been applied to this device by the ven-
dors in an effort to avoid confusion on the part of ISDN users who may not un-
derstand or care about the technology, but simply want a device that performs
the same function as a modem, that of connecting their computer to another
computer or to an information service. The use of an ISDN modem may show
only marginal improvement over its high-speed analog counterpart due to the
built-in limitation of the serial port in some personal computers. Many of these
are limited to 38.8 or 57.6 kb/s.

Memorize the following words and word — groups:

to avoid confusion — nsbexarb 6ecriopsgka
bidirectional — gByHanpasneHHbIN

card — KapTouka, nepokapTa

compatible — coBmeCTUMBbIN

counterpart — CYHETUMK

formatted — (popmaTnpoBaHHbIi

interface — nHTepelic

marginal — npefenbHbIi

misnomer — Henpasu/IbHOEe Ha3BaHWe
properly — fo/mkHbIM 06pasom ['propali]
serial port — cepuitHbIi MHOropaspaaHbIin BXOA,; CEPUMHBIA NopT
terminal adapter — agantep TepmuHana

* * X * *
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ISDN [Integrated Services Digital Network] — uupoBas cuctema MHTErpupo-
BaHHbIX yCnyr

NT-1 [Network Termination type 1] — koHe4Hasa Harpyska cetu Tmuna 1 (ob6ec-
neyvBaeT PYHKLMIO B3aUMOCBA3MN OTKPbITbIX CUCTEM YPOBHSA 1)

BRI [Basic Rate Interface] — npoctoi untepdeiic (B cetsix ISDN)

kb/s [Kilo Bit per second] — Knnobut B cekyHay

Exercises

Exercise 1. Ask problem questions to the text.

Exercise 2. Put the Infinitives in brackets in the Present Perfect Tense
(Active):

1. The Company (to sign) a marketing agreement with Econocruise, a lead-
ing supplier of electronic vehicle. 2. The Company (to establish) a customer ser-
vice center. 3. Project managers (to do) cost/benefit analyses for each partici-
pant, based on quantifiable figures. 4. They already (to influence) operator’s de-
cisions to invest in extra satcoms equipment. 5. All (to see) the possibilities of
the new technology applied. 6. A Californian company (to launch) a program
called Powersync, to synchronise selected files between portable and office
computers. 7. Faced with numerous technical obstacles, many mobile operators
(to appeal) to their governments for support. 8. As modems (to move) into the
consumer market, sales volumes (to result) in more innovation and lower prices.

Exercise 3. Put the Infinitives in brackets in the Present Perfect Tense
(Passive): 1. Cost benefit figures (to publish) now for all the participating com-
panies. 2. The size of presentation files (to reduce) by 95 per cent so that you
can now fit them on a diskette. 3. Plans (to submit) to European Commission by
the Director. 4. A modulated analog signal (to transmit) over facilities designed
for voice. 5. The incoming call (to answer) already by an automatic attendant on
PBX.

Exercise 4. Translate into Russian paying special attention to Perfect
Participle.

1. Having experienced the advantages, we plan to equip our 140 vehicles
with mobile communication. 2. Having been repaired, the computer began oper-
ating better. 3. Having taken all these factors into account, the latest investment
paid for itself. 4. Having repaired the computer, the engineer showed it to the
manager. 5. Having been installed, the nonsystem premises wiring began to
meet the requirements of an insulation standards. 6. Having said this, she
stopped speaking.

Exercise 5. Make the following sentences interrogative, translate them.

1. BRI may be used for providing Centrex service. 2. Additional resources,
such as FAX servers or order entry systems, can be accessed as needed. 3. Simi-
lar to the telephone set itself, modems can be equipped with numerous features,
such as the ability to dial outbound and answer inbound calls. 4. A modem con-
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verts data (in binary form) into a modulated analog signal, which can be trans-
mitted over facilities designed for voice. 5. Installation, configuration, or modi-
fication of this wiring must be carried out in accordance with Part 68. 6.
Whereas a standard analog telephone is powered from the central office battery,
an ISDN telephone (voice terminal) must be powered at the customer premise.

Text3

Facsimile

Facsimile (fax) machines are CPE that convert text or graphical informa-
tion, originated on a sheet of paper or in a computer, into signals that can be in-
terpreted at the receiving end by a sister machine, the result being the same or a
very similar image or display.

Although fax systems resemble data communications, they are very differ-
ent. The fax system transmits images, not characters; hence, there is no way for
the fax system to operate on the content of the information transmitted. On the
other hand, any image, no matter what the source, can be transmitted with equal
efficiency.

The ITU-T divides facsimile standards into four groups:

Groupl. Frequency modulated analog encoding, 6-minutes per page
transmission time, 100-lines-per-inch (Ipi) resolution. Group 1 fax is slow.

Group2. Amplitude modulated analog encoding, 2-3 minutes per page
transmission time, 100-Ipi resolution, 2100-Hz carrier frequency using ampli-
tude, phase, or vestigial sideband modulation.

Group3. Compressed digital encoding using analog modems for transmis-
sion, 1 minute or less per page transmission time, 200-Ipi resolution, 4800—
9600 b/s data rate. Group 3 is the current standard product.

Group4. Compressed digital using ISDN or other digital transmission, less
than 1 minute per page transmission speed, 200-400 Ipi resolution, data rates up
to 64 kb/s.

The major changes in the facsimile market come from its integration into
computers and word processing systems, and its coupling with scanners. Fax
modems accept input directly from the word processing software, by appearing
to be a printer. This allows transmission of computer-generated documents
without the necessity of an intermediate paper copy, providing faster output and
better image quality. On the receiving side, direct fax input to the computer al-
lows storage of the image in the memory, permitting scanning for conversion
into character and graphic form, editing, retransmission, and other functions.
The overall picture is one of increasing seamlessness between data and image
communications.

Memorize the following words and word — groups:

e carrier frequency — HecyLas YacTtoTa
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e compressed digital encoding — ynjoTHeHHoe (CXkaToe) LmMgpoBoe KoaMpo-
BaHue

editing — pelakTMpOBaHNe; NPOBEPAIOLLMIA

facsimile — pakcumune; TouHas Konus

hence — cnepoBaresibHO; B pesynbrare

lines-per-inch resolution — paspeLuatoLLas cnocobHOCTb CTPOK Ha AWM

to originate — 6paTtb Ha4yaso, NPOUCXOANTb

overall picture — nosHoe n3o0bpaxkeHue

to resemble — noOXoAnTb, MMETb CXOACTBO

seamlessness — Lie/IbHOCTb

vestigial sideband modulation — mogynauma ¢ 4aCTUYHO MPUrNYLLEHHOM
60KOBOW M0/10COM

e word processing — 06paboTKa TeKcTa

* % * * *

ITU [International Telecommunication Unit] — MexXayHapoaHblii COO3 3/eK-
TPOCBA3N.

Exercises

Exercise 1. Answer the following questions.

1. What is the function of facsimile? 2. What is the difference between fax
systems and data communications? 3. How many groups does the ITU-T divide
facsimile standards into? 4. What allows transmission of computer-generated
documents without the necessity of an intermediate paper copy? 5. Does direct
fax input to the computer allow storage of the image in the memory?

Exercise 2. Complete the following sentences using parts from the right-
hand column. Translate them.

1. Customer premises wiring is classi- obsolete in telephony.
fied as either
2. The telephone company is not respon- | of feature-rich electronic sets.
sible
3. Depression of a line selection button | appropriate and sufficient in com-

munication.
4. The digital interface allows use connected the hand-set to that line.
5. Analog multiplexing is today for nonsystem premises wiring.
6. Today’s packet-switched networks nonsystem premises wiring, or sys-
are most tem premises wiring.

Exercise 3. Make the following sentences interrogative, translate them.
1. Piezoelectric transducers and small loudspeakers are replacing electro-
mechanical ringers in today’s telephones. 2. More and more users are discover-
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ing benefits of global mobile communication. 3. We are seeing a lot of interest
from industries that require larger volumes of data transfer as well as high qual-
ity voice services. 4. The need for greater mobility is driving the development of
smaller and lighter terminals. 5. With 46 satellites in orbit, Iridium is entering
the final phase of creating the world’s global satellite telephone service. 6. The
company is investing in satcoms to allow it to offer a Just-In-Time delivery ser-
vice. 7. These computers are being tested in conjunction with a radio data com-
munications system. 8. The company is currently developing software to provide
this option to users.

Exercise 4. Translate the sentences paying special attention to modal
verbs and their equivalents.

1. The next step is to separate and identify all costs involved in the current
methods of communication. 2. The operator has to know all the relevant cost
elements. 3. Users can compare the likely costs and benefits of using different
satcoms services. 4. Each option may need a different specification of mobile
and office equipment. 5. Satcoms can be used to monitor virtually anything that
can be measured using electronic sensors. 6. Program parameters can be
changed over the satellite link from the control center. 7. The figures can be
stored in the user’s database. 8. A simple unit can send or receive and print fixed
messages.

Text4

Online address book

Another important features of the new-look website include the “Links Di-
rectory’, which lists thousands of Internet URLs relating to European tele-
comms. Users can type in the name of the operator or organization required, or
can search according to lists of entries for each European country. This should
take much of the guesswork out of trying to find the presence on the web of a
telco, mobile operator, regulator or other industry organization.

As part of its mission to provide a gateway to the telecomms world on the
Internet, www.pnewire.com also now includes a full ‘Diary’ section for industry
events, many of which are just a click away for further information and contact
with the organizers. Event organizers are invited to send details for inclusion.

From a housekeeping perspective, the site’s online registration facility is
important for you as readers. It enables us to keep our circulation list up to date
and removes the need to for readers to fill in forms on paper. Likewise, the
‘Bookshop’ simplifies the process of buying PNE reference books online via a
secure payment option reliant on “World Pay’.

Memorize the following words and word-groups:

e click — wenkaHbe


www.pnewire.com

~
o
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diary — 3anncHas KHUXKa, KasieHaapb

directory — katanor, crpaBo4YHMK

entry [‘entri] — BHeceHue, BX0f, BBeLeHNe

gateway — MeXCeTeBOI NHTepeIC

guesswork — paboTa Bcnenyto, Aoragku

inclusion [in’klu:z3an] — BKAOYeHWe

new-look — pagnkanbHoe n3meHeHue, rnepesiom (B Yem-1.)

online — onepaTuBHbIA (AManoroBblil), HENOCPeACTBEHHas 06paboTKa; B
peasibHOM BpemMeHU

option — BbIGOP ,0NUMA

to remove — yCTPaHUTb

secure [si’kjua] — 6e3onacHbliA

to simplify [‘simplifai] — ynpowiatb

telco (Telephone Company) — npeanpusTue TeneoHHON CBA3N, TeIeKOM-
MYHUKaLMOHHas KOMMaHus

e web-cemb

e  website — MeCTO Hax0XKaeHnsa B CETH, “CTpaHNYKa”

* * * * *

PNE (Public Network Europe) — EBponelickast ceTb 06LLEr0 NONb30BaHUS;
Exercises

Exercise 1. Ask your own problem questions to the text.

Exercise 2. Translate the following sentences into Russian paying atten-
tion to the tense form.

1. The new website takes maximum advantage of the unique attributes of
the Web. 2. It is Web’s facility to allow data to be stored. 3. Advertising infor-
mation can be found in the “Contacts” section of the website. 4. Many markets
in other continents have also become more and more open to advanced tele-
communications solutions of this type. 5. Nokia will deliver core network infra-
structure.

Exercise 3. Insert the prepositions.

1. Electronic mail is a way ... sending messages and letters directly ... your
computer to another computer. 2. You can send a letter ... your hundreds of
friends all around the world ... a few seconds. 3. The “Databank” contains digi-
tal subscriber statistics ... more than 40 countries. 4. Subnetworks are arranged
in three stages so that each call passes ... three subnetworks. 5. The pan-Nordic
cellular service lowers the cost of calls ... borders in the Nordic region.

Keys: from, across, for, of, to, through, in.
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Exercise 4. Read and discuss the problems of the present-day scientific
research and technology.

Internet facts

The prototype for the Internet was created in the sixties by the US Defence
Department. To ensure that communication could be kept open in the event of a
nuclear attack, it created a computer network known as Arpanet — the Advanced
Research Project Agency Network.

The first attempt to connect two computers and allow them to communicate
with one another was made by researchers at the University of California.

The first people to coin the term “internet” were two scientists, Vinton Cerf
(known as “father of the internet”) and his collaborator, Bob Kahn, who in 1974
devised a means by which data could be transmitted across a global network of
computers.

An Oxford graduate, Tim Berners-Lee, set up the first “www server” (a
server receives and sends messages) to store the archive of the European Particle
Physics Laboratory in Switzerland.
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Unit XI
Text1

Ethernet Networks

The term ethernet describes a collection of hardware, software, and control
algorithms that together provide a technique for interconnecting dozens of
nodes, spread over hundreds of meters, at aggregate rates ranging from 1 to 100
Mb/s. These nodes are typically computer work stations or peripheral devices
that are part of a community of users that frequently exchange files, messages,
and other types of data among each other. Shielded coaxial cables and un-
shielded twisted pairs have been used for the physical interconnection.

The primary hardware element used in an ethernet network is the network
interface card (NIC). These cards are attached to a computer bus at one end and
to a media attachment unit (MAU) at the other end via an attachment unit inter-
face (AUI) cable. A MAU is an active device that includes transceivers and
other elements matched to the nature of the physical transmission medium.
Some vendors consolidate two or more of these elements into a single package
thereby rendering certain elements, such as AUI cables, unnecessary. Repeaters
are sometimes used to regenerate signals, to ensure reliable communication. The
NICs perform a number of control functions in software, chief amongst these is
the execution of a random access protocol for exchanging packets of informa-
tion.

Nodes attached to an ethernet network exchange packets of information by
broadcasting on a common communication channel. Simultaneous transmission
by two or more nodes results in a detectable collision that triggers a collision
resolution protocol. This decentralized protocol induces a stochastic reschedul-
ing of the retransmission instants of the colliding nodes. If the overall traffic on
the network is below a certain threshold, eventual delivery of all new and previ-
ously collided messages is guaranteed. The value of the threshold establishes the
maximum aggregate information transfer rate that can be sustained. This thresh-
old is influenced by the span of the network, the length of the packets, latency in
collision detection, and the dynamics of the external traffic, as well as the rate at
which bits can be transported over the physical medium. The aggregate informa-
tion transfer rate can never exceed the bit transfer rate on the physical medium.

Memorize the following words and word-groups:

e aggregate — COBOKYMHbII, 06LLNIA

e attachment — npucoenmHeHne, coegnHeHVe

e collision resolution protocol — NPoTOKON paspeLLeHns KOHMPANKTHbLIX CUTya-
LM

o detectable collision — 06HapyXnBaemas KOHPIMKTHasA CUTYyaL WS

e interconnecting dozens — B3aMOCOeAMHEHHOE MHOXECTBO
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e node — y3en

e package — nakeT

e stochastic rescheduling — BepoATHOCTHOE nepensaHMpoBaHVE O4YepesHOCTH
06CNyXXNBaHUS

shielded coaxial cable — skpaH1poBaHHbI KoaKCUasbHbIA Kabenb

span — MHTepBaJs1, MPOMEXYTOK BPEMEHN

spread — pacLumpeHune, MPOTAXEHHOCTb

to sustain — noaAepXxuBatb, UCMNbITbIBATbL

threshold — nopor

transceiver — (transmitter and receiver) — npyeMHUK-NepeaaTunK

to trigger — NpUBOANTL B AeiCTBUE

unshielded twisted pair — HeakpaHMpoBaHHaa CKpy4YeHHas napa npoBoL0B

Exercises

Exercise 1. Answer the following questions.

1. What does the term ethernet describe? 2. What are nodes? 3. Have
shielded coaxial cables and unshielded twisted pairs been used for the physical
interconnection? 4. In which way are cards attached to a computer? 5. What
does a media attachment unit include? 6. How do some vendors consolidate two
or more of these elements? 7. What are repeaters sometimes used for? 8. Where
do the NICs perform a number of control functions? 9. How do nodes attached
to an ethernet exchange packets of information? 10. What establishes the maxi-
mum aggregate information transfer rate? 11. What is this threshold influenced
by?

Exercise 2. Put the Infinitives in brackets in the Past Indefinite Tense
(Passive):

1. Such a transmitter (to replace) soon by the use of loosely packed carbon,
invented in 1878 by Henry Humming. 2. The frequency-division multiplexing
(to accomplish) in hierachial stages. 3. A market opportunity (to fill) soon by
electronic key systems. 4. The 64 kbits/sec bandwidth (to design) never for
sending live images but the quality of the compressed signals was impressive.
5. The pictures (to capture) by a digital video camera. 6. This processor (to de-
sign) to optimise the operating system and its associated applications. 7. Ground
communication with new satellites (to establish) successfully by the network
control center. 8. This part of the system (to design) to provide additional ser-
vice in the areas of the highest traffic density. 9. Spaceway (to expect) to enter
service in June.

Exercise 3. Read and translate the sentences paying special attention to
the grammar.

1. This results in a frame of data either being repeated or deleted at output
of the buffer. 2. The speed of light being extremely great, we cannot measure it
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by ordinary means. 3. With satellite communications there are no security wor-
ries about the transmissions being intercepted. 4. The images were edited before
being dispatched to news rooms throughout the country. 5. The interaction of
high-speed, high capacity computers with their environment is often continuous,
with many input and output devices operating simultaneously the ongoing inter-
nal computation. 6. There being no alternative, we have to take this implicit
concept for granted. 7. The irreversible effects being well known, only brief dis-
cussion is required.

Exercise 4. Analyze the fallowing sentences having complex subject and
complex object. Translate them.

1. This investigation is likely to produce good results. 2. Automatic elec-
tronic links to customers are expected to be introduced in the second stage of the
project. 3. This causes the current to flow in the circuit. 4. Graphic symbols on a
map are said to be more readily understood than a written text or synthesized
speech. 5. Maintenance costs are likely to be minimal. 6. All messages are likely
to be sent over the satcoms network. 7. The nature of the constellation allows a
partial service to be offered with just four satellites in orbit. 8. They determined
signals on the thinner cable to be less immune and to suffer greater degradation.
9. We observe the transmitting nodes detect collisions when voltages in excess
of the amount. 10. The demand for networked digital video conferencing sys-
tems on PCs or workstations is expected to be substantial.

Text 2

Historical Development of Ethernet

Ethernet evolved from a random access protocol that was developed at the
University of Hawaii in the 1970s for use in the packet-switched Aloha broad-
cast radio network. The Aloha network was meant to serve many users that gen-
erated infrequent and irregularly spaced bursts of data. Techniques, such as syn-
chronous time-division multiplexing, that require nodes to access a common
channel only during precoordinated, nonoverlapping intervals of time, are ill
suited to serving many bursty users. This drawback motivated the development
of the Aloha random access protocol, in which users access a common channel
freely and invoke a collision resolution process only when collisions occur.

Spurred by the success of Aloha, efforts were undertaken to make the pro-
tocol more efficient. Early refinements included the use of a common clock to
avoid partial collisions (slotted Aloha) as well as the development of hybrid pro-
tocols that combined elements of random access with reservations (reservation
Aloha). Another series of refinements became possible in the context of limited
span local area networks (LANSs) that use low-noise communication links, such
as coaxial cables, for the transmission medium. In such environments, a node
can accurately and quickly sense ongoing transmissions on the cable. This first
led to the development of carrier sense multiple access (CSMA) in which nodes
withhold transmissions whenever they sense activity on the channel, thereby re-
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ducing the occurrence of collisions and improving efficiency. The next refine-
ment for the LAN environment was based on a node’s ability to detect a colli-
sion in less time than is required for a complete packet transmission. Early colli-
sion detection allows the colliding users to abort the transmission of colliding
packets, thereby reducing the duration of collisions and further improving effi-
ciency.

The topology of an Ethernet network may differ from the Aloha packet ra-
dio network. The Aloha packet radio network was configured with a controller
node at the center of the network. In contrast, in some types of ethernet net-
works, nodes attach to a common communication channel and directly monitor
it for carrier sensing and collision detection, as well as to transmit and receive
packets. There is thus no central controller in some ethernet networks.

Memorize the following words and word-groups:

to abort — notepneTs Heyaauy

aloha — Anora (MeTof pacnpefenieHnsi KaHanioB B PafMOCBs3N)

burst of data — nakeT AaHHbIX

bursty users — pe3ko BO3pocLLee YMC/O0 Mob30BaTeNeN

collision detection — 06Hapy»eHne Konnmsnii (ConprKoCHOBEHWIA)
collision resolution — paspelleHne KOHQIMKTHbIX CUTyauuia; paspeLueHue
KONN3NIA

drawback — HegoCTaToOK; NpensaTcTBue, Nomexa

infrequent — peiKniA; He 4acTO CyYaroLLMIACS (BCTPEYAROLLIMIACS).

to invoke — obpalyaTbcs; Npr3bIBaTh

multiple access — rpynnosoi goctyn

occurence of collisions — nosiBNeHne KoNU3UIA (CONMPUKOCHOBEHNIA).
refinement —ycoBepLLUEHCTBOBaHMe

to sense —pacno3HaBeathb

spurred — o6y aaeMbli

to withhold —3agep>xnBaTb, OCTaHaB/IMBaTb

* * * * *

CSMA (Carrier Sense Multiple Access) — rpynnoBoi A40CTYMN C KOHTPONEM CUT-
Hana-HoCUTENS.

Exercises

Exercise 1. Answer the following questions.

1. What did Ethernet evolve? 2. What was the main aim of the Aloha net-
work? 3. When does synchronous time-division multiplexing require nodes to
access a common channel? 4. What did early refinements include? 5. What con-
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text did another series of refinements become possible in? 6. Did this lead to the
development of carrier sense multiple access? 7. What ability was the next re-
finement for the LAN environment based on? 8. Is there any difference between
the topology of an Ethernet network and the Aloha packet radio network?

Exercise 2. Give the Past Tense and Past Participle of each of these
verbs, translate them:

to lead, to evolve, to go, to be, to transmit, to undertake, to use, to avoid, to
mean, to suit, to withhold.

Exercise 3. Ask questions to which the following statements may serve as
the answers. Translate the sentences.

1. The ethernet protocol uses carrier sense multiple access with collision
detection. 2. There exists a separate logical link control sublayer. 3. There can
be no more than 100 attachments to a segment. 4. The flexibility of the thinner
cable makes it possible to dispense with the transceiver cable. 5. These networks
operate at the lower rate of 1 Mb/s over unshielded twisted pair cables whose
diameters range between 0.4 and 0.6 mm. 6. The 1 BASE 5 networks are physi-
cally configured in the shape of a star. 7. Each node is attached to a hub. 8. A
hub is responsible for broadcasting all correctly received packets on all outgoing
links. 9. The remaining segments can be either unshielded twisted pair, point-to-
point links of length less than 100m each, or fiber optic point-to-point links of
length less than 500m each. 10. The network span depends on the mix of re-
peater sets and segments used.

Exercise 4. Translate the sentences paying attention to functions of the
verb «should».

1. The whole trial should be completed by the end of the year. 2. The 1452-
1492 MHz frequency band should be adopted in most countries. 3. This should
provide a good indication of the likely communication requirements, including
frequency of messages, data required, size of messages. 4. Users should input
actual values based upon their own experiences and figures from their service
providers. 5. The results should be both accurate and of considerable use for the
operator in making decisions about investing. 6. These developments should be
available within the next two years.

Exercise 5. Translate the sentences, define different functions of Partici-
ple I1.

1. Business applications are expected to be supported by multiservice ter-
minals connected directly to the ATM switch. 2. Today’s enhanced Multi Sync
displays are designed for graphics-intensive windowing environments. 3. The
ATM switch has been enhanced to allow path setting to be controlled by re-
ceived signalling cells. 4. This experimental network is not intended to be ex-
tended into commercial operation. 5. The only workable solution was to accept
that the completed specification would not necessarily reflect all current ideas.
6. Much of the specification development has been in the area of control. 7. The
test validation has been limited to showing that the interface works within the



Introduction to communication system 77

range of conditions it is designed for. 8. Pure ATM electrical interfaces will be
supported as well as pure optical ATM interfaces. 9. By using standards based
algorithms, the codec compresses the high bandwidth video signal so that it may
be transported over relatively narrow bandwidth transmission media.

* * * * *

ATM (Asynchronous Transfer Mode) — aCMHXPOHHbIV PEXXUM Mepeaaym

Text 3

Operation of ethernet

The core algorithm used in all the series of MAC standards and the original
ethernet is essentially the same. The role of the pad field is related to collision
detection. Prior to transmitting frames the MAC layer senses the physical chan-
nel. If transmission activity is detected, the node continues to monitor until a
break is detected, at which time the node transmits its frame. In spite of the prior
channel sensing performed, it is possible that the frame will collide with one or
more other frames. Such collisions may occur either because two or more nodes
concurrently initiate transmissions following the end of the previous transmis-
sion or because propagation delays prevent a node from sensing the transmission
initiated by another node at an earlier instant.

Colliding users detect collisions through physical mechanisms that depend
on the nature of attachment to the underlying communication medium.

All collision-sensing methods rely on a node’s knowledge of its own trans-
mission activity. Since this information is not available to all of the other nodes,
the disposition of some partially received MAC frames may be in doubt. There-
fore, to enforce a common view of the channel outcome, colliding users transmit
a jam pattern as soon as they sense a collision.

Thus, the full duration of a collision is the sum of the maximum collision
detect time and the jam pattern. The first of these two components, the time to
detect a collision, is primarily determined by the time it takes for signals to
propagate between any two nodes on the cable. The second component, the jam
pattern length, is also constrained by standards. Thus, the longest period of colli-
sion activity, which can be thought of as an invalid frame, is limited. The pad
field of the MAC frame can then be used to ensure that valid frames are larger
than the longest invalid frame that may occur as a result of collisions. This pro-
vides a simple mechanism by which nodes that were not involved in a collision
can also sense the collision.

In order to resolve collisions, ethernet nodes retransmit after a randomly
chosen delay. Furthermore, the probability distribution of the retransmission de-
lay of a given packet is updated each time the packet experiences a collision.
The choice of the initial probability distribution of the retransmission delay and
the dynamics of its updates determines whether or not the total population of
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new and retransmitted users can transmit successfully. Thus the retransmission
algorithm lies at the heart of the ethernet protocol.

As a consequence of the collision resolution process, the order in which
ethernet serves packets depends on the traffic intensity. During periods of very
light traffic, service is first come first serve. During periods of heavy contention,
some colliding users will defer their transmissions into the future even as some
latter arrivals transmit sooner. Because of this, packet delivery in ethernet may
occur out of sequence and has to be rectified at the receiver.

Memorize the following words and word-groups:

arrival — nony4yeHue

attachment — npucoegnHeHne; CBA3b

to be in doubt — comHeBaTbCA

to collide with — cTankmBatbCa ¢; BCTYNUTbL B NPOTUBOPEUne (KOH(INKT) C
concurrently — cornacosaHHo

to constrain — caepXXusartb

contention — COMepHNYECTBO; MOMbITKA O4HOBPEMEHHOIO MCMO/Ib30BaHUSA Ka-
Hana CcBA3n

core — cep/LesnHa (ONTOBOOKOHHOIO Kabens)

to defer — oTknagbIBaTb, OTCPOUNTD

delay — 3agepxxka

to enforce — npuHyY>aaTb, 3aCTaBNATb

frame — (hpeiim; Kagp; pamka; cTpaHuLa

to initiate — HaYMHATb; UHULMMPOBATH

in spite of — HecmMoTpsA Ha

instant — MOMeHT

invalid — HefleMCTBUTENbHbIA, HENPUTOAHbINA

jam — 3arpomoXeHuie; nomexa npv npuéme 1 nepegaye
to monitor — HabnroAaTb, KOHTPOIMPOBATL

outcome — pe3ynbTar, NOCNeACTBUE

pad field — obnacTb Heperynmpyemoro ocnaburens
partially — yactnuHo

pattern — kKombuHaLus

to prevent — npegoTepaLLaTh

prior to — A0, nepes, npexae

propagation — pacLuMpeHue; pacnpocTpaHeHue
randomly — cny4yaiiHO, NPON3BOJILHO

to rectify — ucnpasnaTtb; BbINPAMAATL

to rely on — nonaratbCsa Ha; LOBEPATb

to resolve — ynoBneTBOpUTH
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¢ t0 sense — pacrno3HaBaTb
¢ underlying — 0OCHOBHOW, NieXaLluii B OCHOBE
e to update — COBEpPLLEHCTBOBATL; 0OHOB/ATh

* % * * *

MAC (Media access control) — ynpasneHve NH(OpMaLMOHHbLIM LOCTYMOM.

Exercises

Exercise 1. Answer the following questions:

1. What is the role of the pad field related to? 2. What continues to monitor,
If transmission activity is detected? 3. Why may collisions occur? 4. What helps
colliding users to detect collisions? 5. When may the disposition of some par-
tially received MAC frames be in doubt? 6. What does the full duration of a col-
lision include? 7. Is the longest period of collision activity limited? 8. What lies
at the heart of the ethernet protocol? 9. What depends on the traffic intensity?
10. Why may packet delivery in ethernet occur out of sequence?

Exercise 2. Make up questions beginning with the word(s) given in
brackets:

1. This network will use multiple pairs of unshielded twisted pairs. (What?)
2. The length of any one segment cannot exceed 500 m. (How many?) 3. Sens-
ing and transmission are done on two different channels. (Where?) 4. The pa-
rameters that characterize the retransmission backoff algorithm are also the
same. (What parameters?) 5. Neither of these pairs is shared with any other
node. (What?) 6. A hub has multiple nodes attached to it. (What nodes?)
7. There is a possibility that when two signals collide, one of the two may be
correctly captured by some or even all of the stations. (When?) 8. The node to
hub distance and the interhub distances are limited to 250 m. (How many?)

Exercise 3. Translate the sentences into Russian paying attention to the
Future Perfect Tense:

1. Over the five year period this company will also have laid domestic fiber
optic cables. 2. The ATM switch will have supported virtual path identifier
switching by the next week. 3. They will have completed their experiments by
the end of the week. 4. | shall have read the article about broadband develop-
ment by this time tomorrow. 5. A connection between several users will have
been established by the end of the year. 6. Some of the original equipment (such
as the ATM switch) will have been replaced when the TRIBUNE network is as-
sembled by the end of October. 7. The protocol will have provided data to the
system manager as well as to individual users on the network by the next week.
8. New broadband services will have been offered using data rates of up to
2 Mbits/s, such as colour fax and multimedia computer connections before sum-
mer.
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Exercise 4. Put the Infinitives in brackets in the Present Indefinite Tense,
translate the sentences:

1. Enhanced features (to include) extra on-chip memory capacity. 2. All us-
er data in the BUNI Demonstrator (to use) connection-oriented data with an end-
to-end timing relation. 3. A metasignalling function (to be needed) to establish,
monitor and release this association. 4. The protocol (to support) seven packet
types. 5. Request Device Characteristics (to include) basic information such as
input, output, options and summary characteristics. 6. ATM (to provide) a viable
method for transporting data, voice and video traffic on a common network.
7. The severity of impact on network traffic due to disruptions in the synchroni-
zation distribution system or accumulation of phase noise (to depend) on many
factors. 8. Today’s optical fiber (to utilize) ultrapure silica. 9. Today’s fiber
strands each (to carry) a few gigabits per second. 10. Echo elimination (to be ac-
complished) by an echo canceller, which (to use) an adaptive filter to create a
synthetic echo.
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Unit XI1
Text1

Videoconferencing

In a face-to-face meeting, participants automatically filter out routine dis-
turbances in their local environment. In distance conferencing, audio and video
disturbances are transmitted to the receiving studios, along with the information
that is meant to be sent. Because humans filter extraneous information differ-
ently when it is presented by electronic means, small disturbances, such as tap-
ping a pen on a table, become magnified to the point when they can distract the
audience from getting the intended message.

Videoconferencing studios should provide a normal meeting environment,
even though the participants in the meeting may, in fact, be thousands of kilo-
meters apart. Equivalent capabilities must be made available electronically to
the meeting parties, including a whiteboard, a document display and, above all,
the facility to see, speak and listen normally in a natural and non-intimidating
environment.

A videoconferencing studio is normally constructed for four to six partici-
pants, sitting along one side of a conference table. Facing them will be a video
wall in which the screens and cameras are mounted.

For more than three participants, two cameras are recommended. These are
mounted near the centre of the video wall and are aimed “cross-fire’ to avoid the
unfortunate intimidating effect that follows from a participant staring directly,
and apparently fixedly, into the camera whilst, in fact, viewing the main moni-
tor. The use of dual cameras ensures that the image of each person is of reason-
able size and that not too much space is registered above and in front of the par-
ticipants.

The two pictures are combined by a split-screen unit (SSU) into the video
frame for transmission. At the remote site, the SSU can de-split the picture on to
two screens. If there are three or fewer participants, the SSU can be switched off
from the users panel. Fixed camera positioning is generally preferable and is less
expensive. Systems, usually activated by voice switches, which ‘zoom-in’ on the
speaker, are available but have the disadvantage of preventing the remote viewer
from seeing the reactions of the local participants.

The cameras should be mounted at median eye height, which is defined as
1.29 meters above floor level. Thus, the main viewing screens, installed close
together to provide continuity of the de-split image, must be mounted below the
camera level.

As well as showing the conference participants, cameras also register the
background which should neither distract the distant viewer nor interfere with
the quality of the video signal.

Good lighting is obviously a vital element in video quality.
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Memorize the following words and word-groups:

e to become magnified to the point — cTaHOBMTCS NpeyBeIMYEHHbIM [0 TaKoW
CTErneHun

continuity [ kantinju:ti ] — HenpepbIBHOCTb; NOC/EA0BaTENbHOCTh
cross-fire — nepekpECTHbIA OroHb

de-split image — AeKOMOMHMPOBaHHOE N306paXKeHMe

to distract — oTBneKaTb, yBOANUTb B CTOPOHY

disturbance — HapyLLeHWe, nomexa

to ensure — o6ecneynBatb, rapaHTUPOBaTb

extraneous — MOCTOPOHHWIA

to filter out — unbTpOBaTHL, 06PAbATHLIBATL

median — cpegHwWii

to be mounted — 6bITb CMOHTMPOBaHHbLIM, YCTAHOB/IEHHbIM
non-intimidating — HeycTpaLuatoLnin

participant [ pa:’tisipant ] — y4acTHuMK

preferable — npegnoYTUTENbHLIN

split-screen unit — yCTPOMCTBO C KOMOBUHMPOBaHHbLIM 3KPaHOM
staring — NpuCTa/IbHbIN

tapping — NOCTyK/BaHWe

unfortunate — HeygauHbIN

viewing — npocmMoTp, 0603peHune

whiteboard — focka

Zoom-in — ryaatmin 3syK

Exercises

Exercise 1. Answer the following questions.

1. What else is transmitted to the receiving studios, along with the informa-
tion? 2. What environment should videoconferencing studios provide? 3. How
many participants is a videoconferencing studio normally constructed for?
4. How many cameras are recommended for more than three participants? 5.
Why are the cameras mounted near the centre of the video wall? 6. What are the
two pictures combined by? 7. How should the cameras be mounted?

Exercise 2. Translate the following sentences and define the tense-form.

1. The document transmission camera must be ceiling mounted directly
above the document field. 2. If the graphics monitor is located in the video wall,
the viewing distance is too great to for participants to appreciate the fine detail
that the system can transmit. 3. In both public and private networks, technology
and economics are leading to a structure where a high-capacity high-flexibility
core network integrates and supports all services. 4. Public network vendors
have to consider whether they should be in the core-network market, or whether
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they should look to other areas. 5. A further development will be to show the in-
terconnection of broadband LANSs via B-ISDN. 6. Layer-3 signalling sets up,
modifies and releases calls. 7. Printer feedback and parallel performance capac-
ity have not progressed while other components of network computing have im-
proved significantly. 8. At this time the ‘quasipaperless office’ is becoming the
norm with the use of fax and E-mail to communicate. 9. Interoperable ATM im-
plementations will require the development of standards on switch-to-switch in-
terfaces, signalling and common protocol suites. 10. As time goes by we will be
collaborating with other vendors.

Exercise 3. Make the following sentences interrogative paying special at-
tention to modals and their equivalents. Translate the sentences.

1. Additional services, such as file transfer, might be invoked during the
call. 2. It has to be shown that the specifications are independent of particular
technologies or manufacturing techniques. 3. Eventually, the network also will
be able to provide three separate video-on-demand programmes simultaneously.
4. Service providers may offer services at five rates. 5. It’s highly probable that
service providers will be able to operate for many years in a completely deregu-
lated market. 6. A radio system with much lower build and running costs will be
able to replace copper cable in the “local loop’. 7. Based on this analysis we can
offer application-specific hardware and software. 8. A similar trend can be seen
in advanced voice and personal communications services.

Exercise 4. Choose the necessary verb form and translate the text into
Russian.

An end-office telephone exchange ......... two principal functions. For lo-
cal callsit ......... subscribers together over local access lines. For calls outside
its own serving area, it ......... connections to interexchange lines .........
trunks. To do this the switch ......... line and trunk ‘appearances’ whenever a
subscriber ......... the receiver to dial a number, or when an ......... call arrives
from the network.

Keys: provides, performs, incoming, lifts, called, connects, makes.

Text 2
Audio environment in videoconferencing

Echo cancelling systems and echo compensators are available for the audio
environment. In the case of an echo compensator system, the size of the signal
processor defines how much of the feedback can be cancelled; a poor room will
have echo and concomitant problems for the participants, unless receive volume
Is set at an extremely low level. Echo cancellation systems will reduce the re-
ceive volume very quickly to compensate for reverberation but that can lead to
clipping of the incoming speech, and in particularly bad circumstances, to half-
duplex audio operation.
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To obtain a natural meeting environment, open or voice switches should be
installed about 60 cm from the participants. Good audio is dependent on insula-
tion to minimize external sound sources and room reverberation time. The CEPT
advises an insulation of 45 dB to achieve 40 dB (A) ambient sound level in the
empty conference room. Reverberation time is a function of room volume and
the materials used within it. A sound-damping suspended ceiling and a good
quality carpet are absolutely essential for optimal audio quality and the walls
should be covered with a soft, sound-absorbing material.

Even in the most basic and simple installations it is necessary to pay close
attention to sound quality and to minimize possibilities for audio interference.
For example, light partition walls are quite unsuitable to provide acceptable
sound insulation and echo damping. Videoconferencing facilities should always
be sited in solid walled rooms and should be as small in volume as is commen-
surate with viewing distance and the number of participants. Suspended ceilings
always provide some degree of sound absorption. Sound collector boxes can
also improve audio quality, often dramatically.

Memorize the following words and word - groups:

e circumstances — 06CTOATENbCTBA

e clipping — nponyckaHve; npornarbiBaHue; OrpaHUYeHmne
e commensurate — COOTBETCTBEHHbIA, COPa3MepPHbI

e concomitant — conyTCTBYHOLLUI

e dramatically — acHo, HarnagHo

e echo cancelling system — cuctema raleHms 3X0-CurHana
e echo compensator — KOMMeHcaTop 3X0-CUrHana

o feedback — o6paTHas cBA3b

e half-duplex — nonygynnekcHbIi

e partition — pazgeneHue

e receive volume — rpoMKocTb Npuéma

e reverberation — oTpaxeHue

e sound collector box — 3ByKOBOI1 KONINEKTOP

e sound-damping suspended ceiling — 38ByKonornoLaroLuii NoABECHON NOTO-
NOK

CEPT (Conference of European Posts and Telecommunications) — EBponeiickas
KOH(hepeHLMs NOYTOBOIN M TeNEKOMMYHUKaLMOHHOW CBA3N

Exercises
Exercise 1. Ask your own problem questions to the text.

Exercise 2. Translate the following sentences into Russian, define differ-
ent functions of the Participle I1.
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1. ANT has developed a concept based on the worldwide SDH standard
(Synchronous Digital Hierarcy). 2. All known terminals and services can be op-
erated by ANeT (Advanced Network for efficient Telecommunication). 3. The
present variety of different networks is being superseded by a new integrated
network architecture. 4. The physical or virtual collocation of telephone equip-
ment owned or leased by a third party in a modern digital switching office is
relatively straightforward. 5. A digital central office can be divided into three
sections containing peripheral equipment (facility interface units), network
equipment (switching matrix), and central control equipment (message process-
ing computer). 6. The result will be limited competition in the local telephone
service. 7. Features offered by this company include selective call-barring, a 10-
number memory, last number redial, call transfer. 8. When arrived at their desti-
nation files can be returned to their original form simply by passing them back
through a codec.

Exercise 3. Put the Infinitives in brackets in the Future Indefinite Tense.

1. The unit (to send or to receive) only encrypted messages, it (not to proc-
ess) messages which have not been encoded. 2. The information (to be transmit-
ted) then by radio to a central computer. 3. The loop (to be supplemented) by the
planned increase in exchange capacity over the next decade. 4. A technical trial
of the new broadband network (to begin) late this year. 5. With the NPA proto-
col implementation in both printers and host system the future (to be opened) to
advanced print management systems and application development. 6. The three
electricity companies (to exploit) their extensive electricity transmission net-
works for telecoms by combining an optical fiber optic with earth wire. 7. The
new network (to incorporate) sophisticated monitoring and diagnostic equip-
ment.

Exercise 4. Choose the proper verb form and translate the text into Rus-
sian:

Tandem offices ...... subscribers directly but connect different central of-
fices together. Within a particular local access and transport area (LATA) are
several tandem offices that ...... to both local exchange carrier (LEC) and inter-
exchange carrier (IXC) trunks. An office that ...... access to a particular IXC
network ...... the point of presence (POP) of that carrier. Both kinds of connec-
tions ...... now subject to collocation.

Keys: are, provides, do not access, contains, are connected.

Exercise 5. Speak about the advantages of videoconferencing using the
collected material from text 1 and text 2
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Unit X111
Texts for reading and comprehension
Servers
Television Broadcast Transmissions and High-End Post
By Dick Hobbs
Meeting all media requirements

Fifteen years ago | was involved in the fist practical networked stills and
graphic store. My then boss asked me what | thought we ought to do next, and |
said that the obvious move was to record video clips to disk. He spent all of 45
records thinking about the technical challenges, then ignored my advice.

To be far, it was around that time that the first video disk recorders
emerged. But it was still a while before the first examples of what we now think
of as the video servers were seen.

Philips had a false start with a device designed to be at the heart of an
automated transmission system, but the first working server was the Profile,
which has existed under a number of banners but is now Thomson Grass Valley.

The original Profile was a bit like the talking dog: not so remarkable for
what it did, but that it did it at all. Back then, just reading and writing video to
disk was a miracle in itself, and the idea that manufacturers would one day pro-
vide multiple simultaneous streams at different resolutions and file formats was
the stuff of dreams.

Now it is impossible to imagine any broadcast operation without a server-
or its big brother, the storage area network- at its heart. Literally the heart: the
server has become the repository of all current material, and all processes flow
through it.

Servers now come in a staggering range of shapes and sizes, to meet every
purpose. Capacities run from a few hours to thousands of hours. Special purpose
applications may have a couple of ports; multichannel broadcasters may need
literally hundreds of points of access.

Video in, video out is no longer acceptable. It may seem an obvious point,
but servers are there to serve the rest of the broadcast infrastructure, which
means fitting in to the channel architecture. In part, this means adopting the
video formats in use, which might be a DV variant, or MPEG-2, or some multi-
ple combination of these.

It also means providing communication across the network. Shared storage
must be maintained at very much faster than real time if it is not to become a
bottleneck. If the server network you choose has to move material from where it
Is to where it is wanted, then you really want it there more or less instantly.

(Hardware, Broadcast International,
Number 97, August 2002.)
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Ex. 1 Translate and remember the following phrases:

to meet the requirements, to be involved in, my then boss, we ought to do
next, to think about, to ignore the advice, to be far, it was around that time, but it
was still a while, to have a false start, was a bit like, back then, to meet every
purpose.

Ex. 2 Try to retell the text as close to the original as possible.

Serving the Broadcaster by David Cox
Not just with shared storage, servers and in-server editing

Television broadcasting brings together a wide range of talents, applica-
tions and technology. Technology has in many cases simplified tasks. The ad-
vent of digital technology and video servers provide the opportunity to make a
paradigm shift in workflow design providing efficiencies with associated cost
savings. The key is shared storage. A common repository for all media allowing
simultaneous access by multiple users without the need to move tape or make
copies. The storage environment can be complex with a mix of online, near-
online and offline storage; high performance servers with tape or DVD archives
all backed up by “on the shelf” libraries. To the user however the complexity is
invisible. The user can focus on the “what” and not the “where” or “how”, mak-
ing maximum use of their talents and creativity. Leitch introduced shared stor-
age in the very early days of video servers. Technology limited performance of
the first systems. Now with larger and faster drives appearing every year and
network technologies constantly evolving performance is not an issue. Leitch
systems include 181 GB drives and 2 GB/s fibre channel networks; scaleability
Is not an issue! Extremely large systems can be built or multiple small systems
can be integrated to appear as one virtual storage system.

To design and implement a server system Leitch has developed a number
of building blocks.

Broadcasting is a mission critical application and this is reflected in the at-
tention paid to providing failsafe operation. Leitch systems have all the expected
hardware redundancy such as dual power supplies, dual fans and dual network
adapters. In addition they have powerful software redundancy providing protec-
tion against multiple drive failures and the loss of file allocation tables.

The hardware enables the development of applications that improve work-
flow. These include ingest, content creation, content management, archiving,
browsing and transmission. Efficiency is improved through quick access to me-
dia, the ability to start projects while recording is taking place and by multiple
users being able to access the same material simultaneously.

Servers are ideal devices for time delay and a time delay application is
standard.

(Hardware, Broadcast International,
Number 97, August 2002.)
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Ex. 1 Read the above text. Translate it in a written form.
THE ETHERNET SYSTEM

Ethernet is a LAN technology
that transmits information between
computers at 10 million bits per
second (10 Mbps). New Ethernet
standards are currently under
development that will provide
for data rates of 100 Mbps.

There are several LAN technologies in use today, but Ethernet is by far the
most popular technology for department networks. The vast majority of com-
puter vendors provide equipment with Ethernet attachments, making it possible
to link all manners of computers with an Ethernet LAN.

Ethernet can be linked together to form extended networks using devices
called bridges and routers. Bridges can be used to link multiple Ethernets within
a department to support more computers. Routers are used on UT net to provide
a campus-wide backbone network that spans multiple buildings. While individ-
ual Ethernet in a campus LAN system may only support dozens of computers,
the total system of UT net Ethernets linked with bridges or routers supports
thousands of machines.

Operation of Ethernet

Each Ethernet-equipped computer, also known as a station, operates inde-
pendently of all other stations on the network, and there is no central controller.
All attached stations are connected to a shared media system. Signals are broad-
cast over the medium to every attached station. In order to send an Ethernet
packet a station first listens to the medium, and when the medium is idle the sta-
tion transmits its data.

If two stations happen to transmit at the same instant their signals collide,
the stations are notified of the collision, and they reschedule their transmission.
To avoid another collision, the stations involved each choose a random time in-
terval to schedule the retransmission of the collided frame.

Elements of the Ethernet System

The Ethernet System consists of three basic elements: 1) the physical media
used to carry Ethernet signals between computers; 2) a set of media access con-
trol rules embedded in each Ethernet interface that allow multiple computers to
access the shared Ethernet channel; and 3) an Ethernet packet, or frame, that
consists of a standardized set of fields used to carry data over the system.

Computers attached to an Ethernet send application data to one another us-
ing high—level protocol packets, which are carried in the data field of Ethernet
frames. A given Ethernet system can carry several different kinds of high—level
protocol data. The Ethernet is simply a trucking system that carries packages of
data between computers; it doesn’t care what is inside the packages.
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Each computer on the LAN is equipped with an Ethernet interface which is
connected to the media system. For the Ethernet media access control system to
work properly, all computers must be able to respond to one another’s signals
within a specified amount of time. To ensure that every computer can hear the
network signals within the specified time the maximum round travel time of sig-
nals on the shared Ethernet channel must be limited.

The longer a segment, the more time it takes for a signal to propagate over
it. To ensure that the round trip propagation timing limits are met, each media
variety has maximum segment lengths defined in the standard.

Therefore, the correct operation of an Ethernet depends upon a media sys-
tem that is built according to the rules for each media type. More complex sys-
tems with multiple segment types must be built according to the multi-segment
configuration guidelines provided by the IEEE for combining segments. (IEEE
Std.802.3j-1993)

Ex. 1 Read and translate the text above.

Ex. 2 Choose 15-20 words unknown to you and try to memorize them.

Ex. 3 Retell the text.

Ex. 4 After taken a quick look at how Ethernet works, we need to learn
some jargon.

IEEE Acronyms:

MAC — Medium Access Control Ethernet Interface
AUI — Attachment Unit Interface

MAU - Medium Attachment Unit

MDI — Medium Dependent Unit

PM — Physical Medium

CSMA — Carrier Sense Multiple Access

CD - Collision Detection

LAN — Local Area Network

DTE - Data Terminal Equipment

THE RISE OF INTERNET TELEPHONY

Internet Telephony gives service providers the
platform they need to offer PSTN-equivalent voice
quality and service richness while realizing the broad
benefits promised by voice/data convergence.

We use the term Internet Telephony to mean the mature, full-service phase
of telephony delivered over IP-based (Internet Protocol-based) or IP-enabled
networks. Although some commentators use the term “IP-Telephony”, we prefer
“Internet” to ”IP”, since it is more meaningful to a greater number of people, in-
cluding the general public.

Internet Telephony includes the voice capability covered by the term Voice
over IP (VolP), but also implies a host of familiar and new services, delivered
on unified networks designed to carry voice, data, video and multimedia.
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Internet Telephony is the fastest developing market since the Internet,
tracking the Internet’s evolution from hobbyist to mainstream markets.

Unlike previous packet-based technologies for carrying voice over multis-
ervice networks, Internet Telephony now has an exceptional momentum that
crosses the boundaries of public and private networks, enterprise and residential
markets, voice and data technologies, and local and long distance services. With
large scale voice and data convergence promised for several years, Internet Te-
lephony is now providing the final push for its full realization.

With a new investment in Internet Telephony, changes will be wide and
deep. A profound reshaping of today’s telecommunications infrastructure in-
cludes:

+ service quality equal to dialtone for voice, data and video

+ new multimedia business models, applications and services

+ new broadband services incorporating voice, data and video

+ a new slate of intelligent services, adding sophisticated capabilities to
voice applications

+ multiple services on a single customer link, with unlimited opportunities
for boundling, upselling, outsourcing, and cross-marketing.

+ rapid, easy, flexible, and open service development and deployment

+ lower infrastructure costs.

These benefits and the vast potential of Internet Telephony give new and
existing service providers the opportunity to create or reinvent themselves as
part of a revolution in advanced communications infrastructure.

Internet Telephony Requirements

The requirements of a network fall into two broad categories-network and
end-user requirements.

To offer true, PSTN-equivalent Internet Telephony, providers must deliver
network capabilities on three layers-hardware, enabling software, and applica-
tion software.

To make significant inroads into the telephony market, Internet Telephony
must provide services that look and feel exactly like services on the PSTN. This
PSTN-equivalent user experience is called service transparency.

First, services must be as easy to use as those on the PSTN using a tradi-
tional telephone.

Second, services must deliver equivalent voice quality and service avail-
ability.

Third, users must be able to reach all callers on existing telephony net-
works.

And fourth, transparency means matching the existing services of PSTN
networks.

The advantages of Internet Telephony fall into four major categories-
enhanced service revenues, faster time to market, more flexible services, and
improved cost control.
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As the Internet Telephony landscape begin to crystallize, industry experts
are reaching consensus on key success factors. These points can be summarized
in these seven tenets:

1. It’s about services.

2. No one owns the network.

3. Users demand equivalence.

4. Nothing is trivial.

5. The back office is critical.

6. IPQOS is a pre-requisite.

7. Those who dare, win.

As with the Internet, the first providers into the Internet Telephony market
will gain a huge advantage.

(Nortel Networks, USA, 2002)

*PSTN-Public Switched Telephone Network

Ex. 1 Read the text above, be ready to translate it.
Ex. 2 Speak about Internet Telephony.
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